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� ����� ���� ����� ��� ������� !"#�$ %�� ��&�'(� ��)���� �#����� ��*+,�� -#���� ./��0 ���*��� 123 4�5�
 6*,	 �78�� ��9��:;� �+�*�� ������ <�=�:*� 4�5� �>? ��@ .��,�B� C*,3� 
���� *D� E��F G� H@ 
 ��#��

�� ����5� 4��I�J� K�L 
 �M 6*,N ����*�� <�J�J? O� �#���� !/�=��� P�,5'(� Q�R$� .��&�'(� ��3*&� ��'��� S�TI�
.�U�*���� 9�VB� 
 �,I+� W���� W�	?  

XY Z�(����� [���� V�\�� �$*$V���� �(���(� ��R]  
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�� 
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 ( ?  ,I�� �#J���� ���,R��� -#���� ./��0 �U*�� X? _���`�� G� O'?a��#�� �	 
 b�c� ��d'B �/�� ��  

(e  a��#�� �	 
 b�c� ��d'B� ��,f 
 ��-� %�� ���+R�� �3? gR#� -#����� h��� iR8� ./��0 �j X?  

k(   �
V ��L �>? l#�� ���5�� 6������ ���,R��� .+R�� ����#�	( ZX�m�n� ��5� ZiR`	 �
 ./��,�� 123 X?
 ��)"��� o� ��/���Z��d'B� ��,f C�p 
 ����q� ��5�#,��� �$�r@B K�2@ �#J���� ��&�'(� �3�*F 
 ��R�#,��  

����  

1   .7+�� 
 ���5�� W�	B� ����5���� -#���� ./��0 s#� tY ���$ X��1  �	 
 b�c� ��d'B ��,I��� H:? G�
 S+�u 
 ��#���$��? .�=��Y ��&�� ���+R��  

  

 �)���1  

1  ������  

��)����� �=�� ��&�'�� 6�� ��)��� Z��#�� �	 
 �$*$V���� ��v��� ��d'? ����� ��� ��#��(� 
 2	-$ X? wx :�������  

�  a��&�'�� ����-� )z �(�v 
 ��8�B� {$��`��� 
 ./�*R� )��� w|v tY �/�R�� k��R'(� *#	  

�  a�$*D� ��}�"�� tY �/�R�� l3*���  
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�   ���};� Z�$~�+m'n� ���5��� �*���� 
 6V�� Z���$ _2��) ��~q� �$�� tY �? *D� 
 ��)��� V�R� tY �/�R�� *#��
a6L�� �$���m'� ��5#,� wv���� ()�#���  

�  ab�B� h,J �+� ��mR'(� w#�� ��)��� V�R� tY �/�R�� *#��  

�  
 �#+��� �����D�� �? H0�*��� l3*���a*D�   

�  a���m'(� w#�� C�J�n� E��,� ��� ��,'(� �$��}� ZC�#5�J(� E��,� ��� C*�*�� �$��} )"�  

�   o0�5�� e�,5�J�� ~������ b�T��(XPD) aH0�*�� �? ��)��� V�R� �(�v 
  

�  .6V�R�� ��)�� Q� ��&�'(� 
 �	����� ��VV��+� !/�5�'(� *#�� w#�� 6���n� 1*&�  

 6*,�� *+� 6*,N� ~:*� ��5� tY O#'�*: �v? 
 .7+�� �23 E�=$� X? wx %�� ��&�'(� ��)���� �,��#�� -#���� ./��,
 .7+�� �2� �	� E�3 �j� .�=��v�� W�� G� ���*+R�� Z��#�� �	 
 ����r�� ���*�� �$�r@? 
 ��#��(� 
 2	-�

W�	? ����5�� ���*+R� ��5� 
 G�m$  ��d'B� ��,f 
 �� ���*��� Gm��.��#�� �	 
 b�c  

�� ./��0 o���� X? Gm��0� ��	��� ���� �+� ���#�� -#�� 6�� �$�~M ����Vn� W�vn �R����� !8��B� H	�V 6V�� ��U��z*#
..7+�� �23 
 ���5�� ./��,�� tY �#�����  

 Zo0�5��� e�,5�J(�� ~������ b�T�� G� ������ H	����� 9��r�J���( Y .7+�� �23 ��R$(  .��*+,�� 6���n� 
 ��)�����
��R�� 6�5T�� E6.3.2  �R�? tY ���� � ������ 123 X? )z Z���
��� ��d'B� 
 ��d'B� l� H	����� )���� ����]Y ��� �#�'

 ��R�� .K�L G�:�=�� �T+�u ����*� 
 H	����� G� W�	? w'�*:  

�   ���*���ITU-R P.452  H	����� ��R� %�� ��d'B� l���8�? ��,7M� b�c� W�	? ���*� .+R���a  

�   ���*���ITU-R P.619 .��/�`T�� ��,��� .+R��� 4�d��� H	�V H	����� ��R� %��  

7+�� �2� �+r� 6�/�U )U*�� ZH�R��$� G� <(�� Z��#��(� 
 2	-� X? wx %�� ��&�'(� ��)���� <�5U� ���*+R�+� w���� Z.
.��)����� 123 S+�u w#�� %�� �$V��� ������  

 6��#� X? tY 6���n� ����"?*JB� �=&��"  )#R�� ��U�m� !3 ���*��� 123 
 �+�R����"�=� _?" )�d'� ���*���  ITU-R P.581.(  

2  �	
��
� ��	��  

) �q� 9�`T�� 
 6����� tY �#����� ��#�� �	 
 !8�? )�� �+� ��&�'(� 6���	 Hr��d'�  ���*���(ITU-R P.525 
:[���� *7��� �+� ������� S+�u P*�p  

�  �$*D� ��}�"�� tY �/�R�� l3*���a  

�   !/~D� �? H��m�� )��� w|v tY �/�R�� k��R'(� *#	./�*R���a  

�  -�c���� ��~q� �$��� Z��)��� V�R� tY �/�R�� *#��a  

�  ��,'(�� C*�*�� %$��} )"� tY �/�R�� l3*���a  

�  H0�*�� tY �/�R�� l3*���a  

�  .��������� ��+���� S��*R�� tY �/�R�� l3*���  

*0� VV��+� <�5U� 6~���� �=�/��	 ������� 123 G� H@ K+���.������� ���5T�� 
 S�*�� Z
��"D� o
*��� )��� C  

�#$��=� ��&�'(� ~$~R� X? <�'��v? �.O� �#v���� ��&�'(� 6���� <�5U� �(�q� 123 
 ��R$� .  
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O:��VY !"#�$ Z9��� ��N� l|�@B�� �����(� tY V*R$ l3*� <��/�V �=d$  ��� ��+m�� ��&�'(� 6���	 e��v 

�� ��VV�� �*U ��GHz 10  O�*0 )�� �+� l3*��� X*m$� .<�#$�5�(km) d:[���� *3 Z  

  dBdA
aa

γ=  (1) 

lR�� l3*��� �+� H��� (dB/km) γa  ���*��� �,J�*�ITU-R P.676.  

������ �1  �  	
� ��

�� ��� ���
� ����� ��� �������GHz 20  �� �!"#��$�� %"& ��"'( )
� ��*�+�� �",-".�/� %"#��0� 1 234
 �,5
�6� 78+�* .���� %�
: 1 ;%��<� �:%
* ="��ITU-R P.836 .="�� %"& ��"'( �� �"�
�+�� >+?  

2.2 ������� ���  

 H��R�� 
 �? C�RT�� b�B� �,
 S�' 
 ��)�"� �$*D� k��R'(� ���� 
 ��)"��� w#��k  �,J*��� O���
 tY �#�����4/3 
) _���R�� *D� 
�d'�  ���*���(ITU-R P.310 k���� �RT��� �#:*� ��
) �E�@ _���R� X�V ���m'�� *D� ~���$ ������ .

+� �`TI�� ��
� Z���m'(� H��V H��R(k l� ���#�� )��� w|\ b�B� X? O�U ��#$ *� �+� ���7�� �R�B� ��)�� X*m� Z
.���/�*�� ����T��� V�� _2�� H��R�� *3 *#�� �23� .k��R'(� *#N ����� *#�� P*' tY _V-$ �� �23� H#5����� HJ���  

 H��R�� ���/��vY V�\ X? Gm��k � <�
�,'� 6��v� �,5�� 
 ���m'(� H��V k���� ��-#���� �? ��J��5�� G/����  t�B� ���
) *D� G��d'�  ���*���ITU-R P.453 �+� C*�7+� ��:���� 12� �,J*��� ��5�� �$�\ wx� .(���m'(� ��)��� C*v Z

 ���
k  ZsR�� )��� C*,� ���RT��ke ��
 �
���� .ke  9���? �3}��� ��$ %��%99,9  )��� ���UY ���R� tY �#����� i
*�� G�
.������� 6�5T�� 
  

1.2.2  	
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�  

 G� ZP�R&�� )�� lR� ���Un Zk��R'(� 6���	 )"��� .��#��� P*'� ��8�B� {$��`��� ���� k��R'(� 6���	 .+R��
 ���*��� �
���� .��d��� �$��@ b�B W*�
 ���
 tY lm��� �7@ ��v� ./�� ���v 
 ��'V ���
ITU-R P.526  ./��0

�� 
� l���q� l��� k��R'(� 6���	 e��vHm&�� l#$� .K�2@ ��d��� )z ��8�? {$��`� Q� ��)� 1  G$�q�
B�� �+�B��V .k��R'(� 6����  

 �*T� �/��	 ���v 
 �,J*�� b�? �+� k��R'(� 6���� ��#$�5� ���
 �+� C*�q� Gm��dB 15 :������� �"���� �,J�*� <�#$�5�  

  dB10/20 1 +−= FhAd  (2) 

 ��vh  P�T��(� ��U *3(m)  1����� ��(V �r@B� )��� w|v l�h)  �	 �*U sR�� ./�R�� ��
 iR
� �LY �#��J X*m�
� Z(_�$�5��� ��#��F1  !3$�T� !|+�+3Y � �p C�? �,
 S�':������� �"���� O�,R� ZH�  

  m17.3=
21

1
df

dd
F  (3) 

:o�  

  f:   VV����(GHz) 

 d:   )��� C*0(km) 

 d1 �d2:   X��U����(km) .)��� w|v �,5'� lU��,�� l�  

 Hm&�� <�`$? l#$�1  s7���Ad ��V�R�� �+� s#�� Z(2) G� Q@? �/��� �5U ¡���� Zs7��� �23 o`	 �
� .dB 15 Z
 ���
 ¢v !:��	 C��m�J(dB 6  ���|�J����:���v( .���*�� !����  
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&��£ Hm1  

 ������� �	
��
�������� ������ ��� ����� ���� �� ���
���  

��!�� "� �#� 
��$��� �
��%��  

P.0530-01
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2.2.2   ������� 	�
�!	
�� �

�"  

 �*U ��VV�� ��� ����� �23 G� k��R'(� *#	 !8��� 
 ST¤	 �5�GHz 2 !Tm$ �M ����� ���/�*3 w�@�� C�	 G� Z
 !@(  tY C�RT�� b�B� �,
 S�' gTI�$ ����� k��R'(� �5,�� H	�V Z�R�c� H�� ��
? ���v 
 ¢v ZH#5���� o5$

�d' )&�� .�$V�R�� O���
 G� �V? _���$ b�B� �*U ���UY tY k��� H#5����� HJ��� l� ���#�� )��� X? tY k��R'(� �$
 H
B� �+�%60 $�U �5,�� �,
 S�' G� ����Vn� gR� ���� �
� .�q� 9�`T�� 
 ��&�'(� ���� .5� !@ t�B� H�

T�� 
��+�� ����� 123 C*v ¥�? ���*+R� �+� ��*�v o� Z6)	B� 6�  ���/��vYke  tY Z��/��vY ��-#��� 4��5+� ��*+,��
.P�,5'(� 6��T� �U��R� �`TI�� ���
 ���� ����T��� ��� ���/�*3 ~�@��  

 �$�7�� ¦ G�� Zi
*�� G� �T+�u 6)"� �$*�� w��� k��R'(� 6���	 ���5� -#����� h��$ 4�� 9��:Y e��z 
 Z��*$�
$ X? Z)��� ���Un !/��vY ���R� �#����� [���� 9��:n� o#��$������ ����R�� ��	���� tY.  

 �
�

� �
��

�	�
 


� �

�

�	�
� �

���
��

� �
��

�
�

(d
B
)

 

������� 	
� ��
�� h/F1

B:  ���� ���	 
���
 ���� ��������� ��� 

D:�������	��� ������� ��!�� "�# 
���
 ����GHz 6,5 !4/3 = ke 

Ad: $��% ���	 ����
 & ��'�()� *+ ,�'���-� ��$��.��� /��(�0� 
���(2) � 1���2�34��5-6�� ��7� 8����0� 

h:  ���9� �6�'���� :�)� ;��<+ *+"�4� =5- 

F1: �< �95�� �5> ?@��*!4� A� 
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1.2.2.2   #
�$��% #&�'()*��) +,-� .
'!  

 �����1:  !,5��� H��R+� �#J���� �,J*��� ���5+� ��*+,�� ���/�*�� P�T��� V��k )�d'� 6�5T�� 2.2 2	-$ a4/3 = k 

  ���Un�� (���,R� �$? e��z1,0 F1 (�$������ ����R�� ��	���� 
) ./�� �+�? �*U.  

 �����2:  ���
 �+� H��ke (%99,9)  Hm&�� G� <�
�,'�2sR�� )��� C*,� Z.  

&��£Hm 2  

 
%&'k
e

  (
#)* 
+,�
- ./� 0��%99,99 *�12� �34�� 56 7
!��89  

(;�/�6 <	
' =
#6)  

P.0530-02

10
2

10
252

k
e

1

1,1

0,9

0,8

0,7

0.6

0,5

0,4

0,3

  

 �����3:  ���5+� e*+,�� ���/�*�� P�T��� w��ke  6*,�� 
 6V���2 $�U �5,�� ���UY �,
 S�' ��
�:������� H�  

;�/��� =
#�� <	���� =
#�� 

0,0 F1 �,�* @-"� A"�B �
C� "���� (7E"F 
*%* G�)
��� )*I+� ���� 

0,6 F1 "J
� 	
K� �����km 30 !"#��$� 

0,3 F1 ���� �� =I: )
� ��� @-"+6� ���� �LM

 �����4:  l�*,�� 
 �V�v %�� ���/�*=+� Q@B� P�T��(� ��
 H�R���1 �3 )�d'�  �dv���1(.  

 <(����� �r@B� ���Un� 6���
 o#�� X? Z§���� �¨ C*v K&�� ���v 
 ZGm��)�d'�  �dv���1 ( ��	���� tY �#�����
�? Z�$�����  C��R�J� w�� w+,�$ �
� .�$������ ����R�� ��	���+� ���Un� ��
 �J*�� �+� ���#� 6���
 ZH
B� �+�

 G� �VB� ��VV���� ��� ��*#5� )z 6)#@ ���/�*3 ����T���GHz 2  l�*,�� 
 H�R��� X? Z<�#$�5�1 �3  �$��@ ��

"�? G� �F1.  

 G� �+�? ��VV�� ��� ��?GHz 13  Z<�#$�5� !"#�$� .H�$�U �5,�� �,
 S�' G� �#$�
 h#�� ./�R�� P�T��� �$�5� �
V X;U
.1��? �*@2�� ���Un� tY �
��� 123 �U�8Y  

������ �1 � � �� �
C� �� G%",+�� �*
 %"�CN0� �0"� 1 
#O� �� �P"�6� Q��+N0� ;%"�O �#��6"? ���
$6� R2B 
�S� �� TU�6"? 7V#�
1 W(� X"8Y� ZM G
4� �[ G%",+�� �*
 %"�CN0� �0"� 1 Q��+N0� ;%"�3 �� T:"�6� ��,�6� \�� �� ],�$�6� 1 ;0"V�� �� ^_�
6� �,�
N 

 ���� ���(km) 
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* =�
`�a<� b��
B �� �U .c�6"<� c�"B c? 7$��
� ]< \"� %",+� ="8�M !",6"� %2+��* .;
�+��� ������ 1 %"S�N0� �0"� 1 ��,�6� ��"
.��"V6� R2J ^�.� �[ \"��6� 1 
#O� ��  

2.2.2.2   /�$��% #�0 #&�'() �1&1 ,2.
'! 3&��
�  

 �����1: �+�B� !/�*�� P�T��� e��v .1��? 6�*@2�� ��v*�� !/�*�� �+�m&� 9��:Y P�#���  

 �����2: �v� !,5��� H��R+� �#J���� �,J*��� ���5�� H:? G� �VB� !/�*�� P�T��� ek  2	-$)4/3 = k  �$? e��z 

 Z(���,R�������� H�$�U �5,�� ���UY ��
� )�d'�  �dv���1:(  

   G�0,6 F1  tY0,3 F1  G� 9~: �+� ./�R�� ���� �LY)���a  

   G�0,3 F1  tY0,0 F1  X�5/�� �? �v�� ./�� �j X�@ �LYl��~R�  �+��.)��  

 G� 1��? ��=��Y ��&�� l$��� 
 ��'��� ��5�� W�vY ����	� Z�:�q� ��� ZGm������q� k���B� P�T��� 6V�$} w�� H:?  �LY �?
 G� H
? VV���� X�@GHz 2.  

 G� k��R'� 6���	 O�U !,R$ *� �+� �VB� !/�*�� ���UY ����	� Z<�`$? ZGm��dB 6  ���m'(� ���� 9���? 
 Z<�#$�5�
��=��� S���� 
 Z_?) _V�R�� a�d'�  6�5T��8 ��J��
 1V�\ ��@ 4�d��� *#	 ���� �#J��� 6���I+� W�	? ���
 �$? �? Z(

 ��J��5�� ��� X? wx� .��#�	(�.6L�� ���m'� ���� w�� H:? G� 4�$? 6�� C�	 
  

 Hm&�� �,J�*� k��R'(� 6���	 ��5� X? Z�+$�#�� ���q� 123 
 Z<�`$? ZGm��1  ��V�R�� �?(2).  

 �����3: ��)��� V�R� w#�� *#�� ���� G�8 ©�m�� E��	(� ���&� w�|��� l�/�*�� l� 6���#�� X? G� �@���� 

)�d'� � 6�5T�1.2.6( tY ���$ ZK�L .57�$ � �LY� .6���#�� H$�R�.���7+� <�5U� Z  

������ �1 �  c? Q��+N0� ;%"�3 d�� e*���� f,g R2B e"��/� ����� %",�3� hdB 3 * !"#��$�dB 6  i#�? 
#O� �0"� j["���*
) k%`� ^8E ��� ;
�+��� ��������N�  ;�$K6�3.1.6 �,(l�6"?* .(0  7V#�� �26 e"��/� 1 j["��6� �2B ]'m ������ >+? j-".3 ^a��

.;
�+��� ������ �� T:"�6� 
#O� ���nl� c���6 d�3� ]-"E* 
"oM  

 �+� 6V�R��� ��)��� *#	 �(�v w#�$ �r@? �? �v�� ),	 {@�� h,J V*:� �=�U ���$ %�� ��)��� ª« ���U�
h,J �*U ��)��) h,���  C��R�J�� �+�B� !/�*�� P�T��� e��v <(�? G�7��$ (<��: �$*��� �*,J 
 �? 9���

 6�5T�� 
 6�*@2�� �5$�,��1.2.2.2  G� �$�¬ l��� H:? G� K�L� Z©�m�� E��	(� !/�*� �+r� 6���#� �V? e��v ¦
) b�B� h,J �+� 6V�R��� ��)��� 
 ��&�'(��d'�  6�5T��3.1.6.(  

 ���� o� ©�m�� P*���� ���m&� C��R�J� (9��� �*U �+$*,�� ��)��� Hr�) W*�5�� �(�q� 
 _���`�� G� X*m$ �
�
 6*,�� 
 �=��Y ��&�� 6���5�� �+� ���q� 123 
 �VB� !/�*�� ���UY ����$� .���/�*32 �#����� ���Un� X�� �+R�� o� Z

 �/�
 !,J*�� !/�*�� tY �+� 6V�R��� ��)���� ��&�'(� ��)��� l�\ H:? G� �+�B� !/�*�� o� �+r�� 6���#�� ��� �+�
) b�B� h,J�d'�  6�5T��1.2.6.(  

3.2  �� ��! �
��"�# ��$%&� '���� (���
��� )
)����# ���*+��  

 X? wx� ��#��(� 
 2	-6�� �E�� *: 
 *#	 ����� � �$*: ��5#0 �=##�� ���� ��,f ��� Z���m'(� 6�$�
 �$*$V�������*+�m�� o`� ��*0 �*T$a � ������ 123n� �*���� 
 6V�� �U��R��) ��~q� �$�� !3 ���};� ���5��� �$~�+m'

()�#���  X? Gm�� .6V�R�� ��)�� Q� _*D� ��&�'(�� 6V�R�� ��)�� Q� !7,��� ��&�'(�� ���/�*�� X���
� KU�
 ­�\��#��z  �dv��� �d'�) �=��� ���U E��/(�� �? H5��� Hm&� ������ 123(1 *#�� G� <��: _*
 Hm� ­��� .

 V�R� w#�� <�*#	 ����U b�B� h,J �+� 6���®� ��mR'� o� 6���#�� 6���n� ��~v �$�� �`�$ ����� ��VV��+� !/�5�'(�
#	 ������ 123 <��/�V .U��$� .��)��� Gm� Z��,��� �5�8 �$*: �����,8� tY� 4�d�'(� 4�� tY V*R$ -�c��� w#�� *

 _L )z �5#$ [�]n� *#�� o$}*� 
 1)������?  i\ ��VV�� ���GHz 40 .<�#$�5�  
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������ �1 � .R%",�3� io G26� �",-�
J� ��I< k�� p
� �",-�
J� ����[� q� 
�r  

b�R�  6�5T��1.3.2 5$�0�  _? 
 ?*JB� �=&�� �J*�� 
 (.�8 ��,�� �?) �v�� VV��� .�R�� �$�&�� *#�� o$}*�� -#��+�
� .��R�� G� 9~:(  �5$�,�� 123 4�I���ª/��	  h�� �? ��,I��� G� ����B� Hv���� 
 ����R�J� Gm� ����� )���

T�� 
 �8��R�� ��'�r�� �5$�,�� ��? .������� �? ª	��� 6�52.3.2  ��5� �5$�,�� H�R���� *#�� .�� ��
 Hm� ��/�� !=U
.<�`TI�� *#�� .�� X*m$ ����� !+	�V C��m�J� 9��:Y tY �|+�� <��: .��R�� *#��  

 6�5T�� 4�5�3.3.2  6�5T�� 
 ���5�� �5$�,�� O� �#��� _2�� *#�� .�� �5$�,�� H�R���� .�����n� ~$~R�� -#��+� �5$�01.3.2 
 6�5T�� 4�5� <�)	?� .6��v*�� H	��� ��+R� 1��#����4.3.2 ._*���� o$}*��� �J*�� tY �J*��� ?*JB� �=&�� H$*7�� �5$�0  

1.3.2 ! �4���� �4�����5��� 6! �	7� ���8! 9
� :;2 6<  

 �����1: � 
��"D� !	���� H��R�� �$�5K �J*��� ?*JB� �=&+� ��� o
*� tY �#�����sR�� ) *#�� ���,R� G� <�
�,'� Z
 
 ��U��":) �3���� C�v 
 �5,����d'� H�$2��� 1(.  

 �LY� ���5+� ���5�� ���,R�� �U*�� �K ) ���*+� �+�T� ����� �5$�0 .�#,� C�v 
��d'�  �dv���1 H��R�� � �5¤$ (
:��V�R�� �,J�*� ?*JB� �=&+� 
��"D� !	����  

 

( ) 46.0dN0027.04.4
1010 1 −−− +=

a
sK

 (4)  

:��v  

  dN1:   �V? 
 ���R� �,5' 
 �$���m'(� k�̄��65 m  C�	 �3}��� ��$ � *D� G�%1  �J*�� G�
� �����sa �5,��� 123 
 ��8�B� {$��`��� �¨ �$�\ *3  

  dN1:  �,R$  G� C*,��� b�R�� �*,� �,u 
°1,5  ���*��� 
 V�$ITU-R P.453 C*�q� !"#�$� .
 o��B� �,I�� ��5' ��
 tY <�V���J� )��� S���� �,5�� C*,��� b�R�� !,� �5�
��� ���5�� �+�
 �(���(� w�m� 
 C��: Hm� �+� ���,R�� �U*��� .l,N !+	���� C��m�J(�� e�
B�

 �$*$V����(BR) ��J����� ��|+� ©���m�n� o
*�� X�&� 3.  

  sa:   �=�v��� �5,�� 
 (����B��) {$��`��� ����T��( _���R�� E���(� O'�� V�7�$
km 110 × km 110  �3��
 �'�#�J���s 30  ���,R�� C�r�)“gtopo30” Globe V�7�� X? !"#�$� .(

#'�: �+� X�$������ �5,��� �T�' o5$ ��° <��'(*0 �5,���  �,5' 
 �� _2�� ©(*,�� ��� !
J�i'��'n� �m#� �+� {$��`��� ���,R� �U*��� .)��� � ��R�� 9��? o�] 
  C*�q� Gm�)

.(�$*$V���� �(���(� w�m� G� X�*�R�� �+�  

 e��v _���`�� G� X�@ �LY�K ) ��,I��� b��zB ������d'�  �dv���1#$�5� e��v 9��:Y Gm� (  �v tY .�
V !
�� :�
�R�� �,J�*�  

 

1dN0027.06.4
10

−−=K (5) 

 �����2: e��v )��� H�� (mrad) |εp|  l�/�*�� P�T��� tY <�V���J�he �hr  K�L� Z(�7#�� h,J W*��� �*U ����B��)
�,J�*� :�
�R��  

 

dhh erp –|ε| =
 (6)  

��v d  )��� C*0 *3(km).  
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����� 3:  �$*��� �#���� w�\p
w

  ��$ %�� i
*�� G� *#�� .�� }��� �39���?(dB) A  �,J�*� �J*��� ?*JB� �=&�� 

) .�
��� ���*�� ����� b��zB K�L� Z������� �
�R���d'� l�dv��� 1 �2:( 

 %10)|ε|1(
10/00076.08.003.14.3 Ah

pw
LfKdp

−−− ×+= (7) 

��v  

  f:   VV���� *3(GHz)  

  hL:   l��T���� ���
 �"�? _?) �VB� !/�*�� P�T��� *3he 

�hr(  

 !	���� 
��"D� H��R�� ���$ ��v�K  ��V�R�� C��R�J� G�(4).  

) �R$���� ��,I��� ��5�#,� tY �#����� Gm�� �d'� X��dv���1 �2 �$*��� �#���� e��v Z(p
w

  �39���? ��$ %�� i
*�� G�
 *#�� .�� }���(dB) A :��V�R�� �,J�*� ?*JB� �=&�� 
  

 %10)|ε|1(
10/00089.08.029.11.3 Ah

pw
LfKdp

−−− ×+= (8) 

 ���
 ���� ��vK  ��V�R�� C��R�J� G�(5).  

������ �1 �  c�6
"+�� )"a+�E� �� �"s"�6� 4#��6� l8O G%",+�� t��Y�6 �"�,�"+6� �"�a,$6�(4) *(7)  u !0*�(5) *(8) "v !",N"n dB 5,7 
*dB 5,9 "m) w�
�6� ��� � ZM ��E �� ���V�6� �� �P"�6� �a,$6� q6L 11 ��,#�� ������ �� xE�
6� TC6� c? �� @#8�* .(d�3  R2B

 R%�[* l8y�6 G%",+� t��Y� p
� )"Cz`�dB 5,2  "{,� �
C� |6� ��W6� ������ 1m 700 > hL  R%�[* l8y�6 G%",+� t��Y� �.[�*
dB 7,3 0 �,�"+6� G%",+�� t��Y0� T,[ c? },�#6� 	�K6� �� �U .R",�� 	
� ������ 1  ~,�� )
.<� �C� |6� ��4#��6� ��� �[�? �C+�

 c�6
"+�� )"a+�E"?(4) *(7) 1 ��5
6� )"� 1 ����) \"��N0� ;���z k%� 1 *� (!�'� )"#��) �a����� �U ��%"��6� ��L 7_�%`� ��
 �,�#�� ��5
6� 1 l8y�6 G%",+�� t��Y0� >K�� �$� .(!�'� R",�� 	
�(m 700 < hL) %��$m )"'�� ],#E ��� �dB 0,6  ��5
6� 1*

 %��$m �+K���� �,�#�� @�"��� 	
� �F |6����6� �� 
��,]#.  

������ �2 �  �0
"+�� ����(7) *(8) *(4) *(5) "+6"? �$�+��� 1��V�� 73"��� ]�K 1 
#O� �",8+� ;
�+�� �"+:��� �� 251  ��5*
1  "B��� )
� e*���� �"+6� 1 �K��� �,���V: �,3"�� @�"��d  c?7,5 *km 185  "��

�� e*����*f  c?MHz 450 *GHz 37  ],� ].�*

 ����|εp|  ZMmrad 37  p
`� 7-�
J� �"K�%� e*����*hL  c?17 *m 2 300  %"�CN0� Q%��*dN1  c?860– *150– N /;��*km 
 ^8�6� ��%"�� 1 ��"#�*sa   c?6 *m 850  )"� 1)m 1 > sa R%�[ p
� ��� )"a+�E� 7V#��  m 1.(  

 X���V�R�� Q�R��(7) �(8)  tY H�� %�� ��VV��+� l�q�� <�`$?GHz 45 #$�� O#� H�+\ �/��' )&�� .�V? �7@ !  X? tY
#$�5� �$�5� �+� C*�q� Gm�� .)��� C*0 o� <��m� wJ���$ �VB� VV���� �v  Z�VB� VV��+� �q� �2� !fmin C��R�J�� Z

��V�R�� :�������  

 GHz/15 dfmin = (9)  

2.3.2  9
��� =�>? �4���� �4����� <5��� 6! ���8��  

�=T�� V�$ %�� �5$�,�� XY ���U  i
*�� G� �$*��� �#����� -#���� tY E�� %��� �R�Z  l� o�� *#�� .�� }��� �39���? ��$ %��
o$}*� .��R�� *#��Z �|��� !+	���� C��m�J(� 9��:Y l�� �5����� ���5T�� 
 6V��*��#$ !  G� H
B�� .�R�� H�+
 *#I+�dB 0.  

 �����1: �)���� ��&�'(� H��� w�� 6V�R��� �p0  w���� �*�� .��R�� *#�� o$}*� s7�� o0�5� �,5' 
 ���5�� _?)
 6�5T�� 
 6V��*�� �5$�,�� P�#��� K�L� (i
*+� �$*���1.3.2:[���� *7��� �+� Z 

 

%10)|ε|1( 00076.08.003.14.3

0
Lh

p fKdp −− ×+=
 (10) 

 ���
 H�R��� !+��T��� ���*�� ����� ��5�#,� tY �#������K  ��V�R�� G� ������(4):[���� *7��� �+� Z 

 

%10)|ε|1( 00089.08.029.11.3

0
Lh

p fKdp −− ×+=
 (11) 
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 ���
 H�R��� �R$���� ��,I��� ��5�#,� tY �#������K  ��V�R�� G� ������(5) l��V�R�� X? tY 6���n� ���� .(10) �(11) 
 l��V�R�+� X���U�m�(7) �(8) o� Z0 = A.  

 �����2:  .�� ���
 e��v Z*#��At .�R�� H�+
 *#�� o$}*� tY .��R�� *#�� o$}*� G� C�5�'(� �3��� ­�� %�� Z
#$�|��� !+	���� C��m�J(� w�v :! 

 dBlog2.125 0pA
t

+= (12)  

�� �+� �2/��� 9��:n� S
*�$�  i'�@ �LYA  G� �"�? 4? Q@?At.  

 �����3 :(�  e*+,�� *#�� .�� X�@ �LYA � <�$����  At :O�� Q@? �?  

i
*�� G� �$*��� �#���� w�\ pw  ���5�� }��� �39���? ��$ %��A :�J*��� ?*JB� �=&�� C�	 

 

%10
10/

0
A

w pp
−×=

 (13)  

 ��V�R�� X? ±v�$(13)  ��V�R�+� ��U�m�(7)  �?(8) ���q� .U�.  

 �����3 :(�  e*+,�� *#�� .�� X�@ �LYA G� H
? ZAt:  

i
*�� G� �$*��� �#���� w�\ pt  ���5�� }��� �39���? ��$ %��At :[����@ �J*��� ?*JB� �=&�� 
 

 

%10
10/

0
t

A
t pp

−×=
 (14) 

 ��V�R�� X? ±v�$(14)  ��V�R�+� ��U�m�(7)  �?(8)  o� ���q� w�vAt = A.  

 w�\
a

q′  C�5�'(� *#	 ���
 tY <�V���J�At  C�5�'(� i
*� �$*��� �#�����pt :[����@  

 tta
Apq

⎭
⎬
⎫

⎩
⎨
⎧

⎥⎦

⎤
⎢⎣

⎡
⎟
⎠

⎞
⎜
⎝

⎛ −−−= 100100lnlog20 10
'

 (15)  

 w�\qt  tY <�V���J�
a

q′  C�5�'(� *#	 ���
�At :[����@  

 ( ) ( ) ( )800/103.410103.012
20/016.020/

t

AAA

at
Aqq ttt +−⎥⎦

⎤
⎢⎣

⎡ ×+−= −−−' (16) 

 w�\�qa 

 *#�� ���
 tY <�V���J�A :[����@ e*+,��  

 ( )⎥⎦⎤⎢⎣
⎡ ++

⎥⎦
⎤

⎢⎣
⎡

⎥⎦
⎤

⎢⎣
⎡ ×++= −−−

800/103.410103.012
20/016.020/

Aqq A
t

AA
a (17)  

 i
*�� G� �$*��� �#���� w�\�pwZ  }��� �39���? ��$ %�� .�� *#��(dB) A :[����@ �J*��� ?*JB� �=&�� 
  

 

( )[ ] %10exp–1100
20/Aq

w
ap

−−= (18)  

 X*m$ X? ��� 1��? �*@2�� 9��:n� !,R$�2 000 > p0  ���5+� <�#��� <�)"�pw  tY �#�����A  �$�\ H:? G� O���R�J� Gm�
A � ���R� ���5�  pw .�,��� �$���m� ��+�� �,J�*�  

 Hm&�� 
 ���#�� ����7��� ��*�p 4�5��3  ��+R�� o�p0 

.�5$�,+� <��'��� <�8��  
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&��£ Hm3  

����� �� 	
���� 	
���� pw �
�� ��� ���� ������� ��
 ��� A ���!� "#$�� % &����� '() �*+�� ,� p0  

) % 	�-�+��(10)  ��(11)  .) /��"�0 (	��2� 3�40,01 �1 000  

P.0530-03

0 5 10 15 20 25 30 35 40 45 50

10
–4

10
–3

10
–2

10
–1

10
2

10
–5

10

1

p
0  = 1 000

316

100

10

1

31.6

3.16

0.316

0.1
0.0316p

0  = 0.01

  

3.3.2 	�
�
���
� ������ �����  

 .��)��� V�R� w#�� *#�� tY _V-� %�� 6�$�R�� _��|�+� �=�T' ���R�� E��d�� C�	 6���®� 6�$�� ��~$~R� �3�&�
 �*U ��~$~R�� -#���� wx�dB 10 :������� ��V�R�� �,J�*� �J*��� ?*JB� �=&�� 
  

  dB10for%10–100
5.3/)–2.07.1(– 01.0 >= +

Ep
EA

w (19)  

 ��vE  ~$~R��� *3(dB)  _2��( ��� ��$ �#�' 9���? 1}%p � Zi
*�� G�A0,01  e*��� o
*��� *#�� .�� *3 tY <�V���J�
 ��V�R��(7)  �?(8)  ���q� w�v �$*�� �#�' 9���? 1}��� ��$ _2���%0,01 = pw .i
*�� G�  

 l� ~$~R��� H:? G� ZH�R��$10 �dB 06*,	 9��:n� Z�:[���� 6*,	  

 �����1:  i
*�� G� �$*��� �#���� w�\'
w
p  _���$ ~$~R�� �+��5��dB 10 ���5�� 123 G� H5$ �? (10 = E′)  �,J�*�

 ��V�R��(19).  

 �����2: w�\ '
e

q :������� ��V�R�� �,J�*�  

 ⎟
⎟
⎠

⎞
⎜
⎜
⎝

⎛
⎥
⎦

⎤
⎢
⎣

⎡
⎟
⎠

⎞
⎜
⎝

⎛ −−−−=
21.58

100
1lnlog

20
10

w

e

p

E
q

'

'
' (20) 

���� ���	 (dB) A 

�
���

�
�� 

	

� 

�

��

 ��
���

�� 
��

� �
�� 

�
�


�� 
��

 �
�


���
 �

��
���
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 �����3 :w�\  ��+R��qs 

������� ��V�R�� �,J�*�:  

 3.2005.2 −= '
es

qq (21)  

 �����4: w�\ qe 

? G� ���
 H:E :������� ��V�R�� �,J�*� �=�U e*z���  

 ( ) ⎥⎦⎤⎢⎣
⎡ ++

⎥⎦
⎤

⎢⎣
⎡

⎥⎦
⎤

⎢⎣
⎡ ×++= −−−

800/101210103.018
20/20/7.020/

Eqq
E

s
EE

e
 (22) 

 �����5 : %�� i
*�� G� �$*��� �#���� �+� H��(  ~$~R��� }��� �=/���? ��$(dB) E :������� ��V�R�� �,J�*� 

 ⎥⎦

⎤
⎢⎣

⎡
⎟
⎠
⎞

⎜
⎝
⎛= 20/–

10–exp–121.58–100
Eeq

wp (23)  

 Hm&�� 
 ����7��� ��*�p !,R�4 ��#��� o� Z�5$�,+� <��'��� <��r� 0p ��+R� )�d'�  ��V�R��(10)  �?(11)  .(���q� w�v
 Hm&�� 
 s7�� H@ CV�R$�4  Hm&�� 
 s7��3  ���
 {T' O�0p Hm&�� X? tY 6���n� ���� .4  �$*��� �#���� 4�5$

 �$����� ��~$~R��� }��� �39���? ��$ %�� i
*�� G�(pw – 100) X�� �+R�� o� Zpw  l��V�R�� 
 �,R�(19) �(23).  

&��£ Hm4  

 �� �����	 �
��
	 ���
	(pw – 100) �����
	 �E  ���
	 � ����� ��� ��
	�����	 !��"	   

 #$% �&�
	 '�p0 ) � �
(���	(10)  �!(11)  )% *�	��+ (�
�-	 .�/0,01 �1 000  

P.0530-04

0 2 4 6 8 10 12 14 16 18 20

10
–4

10
–3

10
–2

10
–1

10
2

10

1

p
0  = 1 000

p
0  = 0.01

  

  

 -#���� tY �#�����,J*��� ����� 
 }��|��� G� �$*��� w������ &�� G� <(��6�5T�� �d'� Z�J*��� ?*JB� �= 4.3.2.  


�
�
�� (dB) E 

�
���

�
�� 

	

� 

�

��

 ��
���

�� 
��

� �
�� 

�
�


�� 
��

 �
�


���
 �

��
���
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4.3.2  �� ������� ������������ 	
������� ����� �! ����"� #��$� �%&��  

 ~$~R�� *#�� ��R$}*� H$*\ Gm� �����n� �J*��� ?*JB� �=&+��� ��*��� ���5T�� 
 ���5�� ./��,�1.3.2  tY3.3.2Z 
:[���� 9��:n� �,J�*� �,J*��� ���+� o$}*� tY  

 �����1 : i
*�� G� �$*��� �#���� w�\pw ���? ��$ %��9 *#�� .�� }��� �3A  �=&�� 
 o$}*��� G� Q@B� H$2�� 

 ��V�R�� �,J�*� Z�J*��� ?*JB�(7)  �?(8) ���q� w�v.  

 �����2:  
��"D� !	���� !��$��z*+�� H$*7��� H��� w��ΔG :������� ��V�R�� �,J�*�  

 ( ) ( ) dBε1log7.log7.2–cos.log6.5–5.0 |||| 7.0
pdG +1+ξ2±111=Δ (24)  

 ��vΔG  ≥  10,8  dB �#:*�� ���R�� H�R��� ��v�  H:? G�ξ  ≥  °45:H:? G� �#����� ���R�� H�R���� Z °45 < ξ:��v� Z  

  ξ:   b�R�� �	N°)  �?(S°  

  d:   )��� C*0(km) 

 |ε| p:   P����H�� )��� )<�
�,'� G� ��V�R�� (6)(.  

 �����3 : i
*�� G� �$*��� �#���� w�\p ���? ��$ %��9 *#�� .�� }��� �3A  )#m�� *#�� .�� _L o$}*��� H$L 


 :������� ��V�R�� �,J�*� �,J*��� �����  

 p = 10–ΔG / 10 pw           % (25)  

 �����4:  ����� 6*,�� 
 ���5�� �5$�,�� o#�� Zo$}*��� 
 .�R�� H�+
 *#�� W�� C��R�J� w+,$3b  6�5T+�2.3.2  o�
:������� ��)�"��� C�	VY  

(1   ���
 C*\pt  ��V�R�� 
 �=�+� H�7���(14)  ��V�R�� 4��I�J�� �$*�J ���
 tY(25)  �$*���� ���5�� 123 4��I�J��
 G� <(��pt  ��V�R�� 
 �=d� �����(15).  

(2   ���
pw  ��V�R��� ��*���(18)  ��*+,�� �$*���� ���5�� !3p.  

 �����5:  ��~$~R� o$}*�� -#���� w+,$ ����� �����n� 6�5T�� 
 ���5�� �5$�,�� o#�� Z�,J*��� ���+�3.3.2 ��v .A0,01 
 9���? 1}��� ��$ _2�� *#�� .�� X�� *3%0,01  �+� <(�? H��� .�,J*��� ����� 
 i
*�� G�pw  ��V�R�� w+5�(25) 

 C��R�J��%0,01 = p *#�� .�� �+� H�� ¦ .A0,01  9���? 1}��� ��$ _2��%0,01  w+5� �,J*��� ����� 
 i
*�� G�
 ��V�R��(7)  �?(8) ���q� w�v �J�� C��Rp  G� <(��pw.  

5.3.2  �'($� #��$� 	���)�� �! ����"� #��$� �%&�� �� �������  

 i
*�� G� �$*��� �#���� H$*\ Gm�pw 

 .��R�� *#�� }��� �39���? ��$ %��A  G� �$*�� �#�' tY �J*��� ?*JB� �=&�� C�	
 i
*��psw 

�39���? ��$  �=� G� ��
B� ?*JB� 6��T�� 
 .��R�� *#�� {T' }���T :������� �(V�R�� C��R�J�� K�L�  

������ �	
�� �
��� � ������ �� �������
  

)( 676.034.89
854.0– +⋅= Tpp

wsw
 %

 

1 h ≤ T < 720 h  (26)  

 � ������ �� ���������� �����  )( 295.0119
78.0– +⋅= Tpp

wsw
 %

 

1 h ≤ T < 720 h  (27) 

 � ������ �� ������� �
��������  )( 175.085.199
834.0– +⋅= Tpp

wsw
 % 1 h ≤ T < 720 h  (28) 

�!���" �1 �  #� �$%�&�� '(��(26)  ��(28)  �)&(� *�� ���
&�� #� �25  �+�,�� ��-./0 ��.(&� ����� � 1,� �)23pw  �� ��%��(4� �5�6
.8�9�� :5;� ���
&�  
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6.3.2  ������*+
��,-� ./ 0
1�,-
� )�d'�  �dv���1(  

 P�,5'(� C���v� w�� Z���
� �+�� ����� ���P
ns

 ) !/�5�'(� )z *#�� X*m� tY �/�R���d'�  6�5T��7:������� �"���� �,J�*� (  

 100/
wns
pP = (29)  

 ��vp
w

 (%)  !3 %�� i
*�� G� �$*��� �#���� ��$ �39���? }��� *#�� G� �$��q� �d����(dB) F = A �,�� C�R� H��5�� 

  ���#��(BER)  6�5T�� G� �=�+� H��) �J*��� ?*JB� �=&�� C�	1.3.2  �?2.3.2  tY H�*��� Gm�� .(���q� w�v

 �d���� *#�� G� �$��q� ���3F @ ����� ��~�=|��� o� 6�U*��� ���*+R�� G�� �+�*�� e��v G���  ��#��(� 
 2	-$
 tY 6�/�R�� �+���� ��`�TI�����+RT�� �+�*�� �����.  

�!���" �1 � < ��(��� � =
>� �.&� ?@AB ?� ��+(!� C�=� D���()� ��E F�
,�$� %.(BER)  G��(&�� HIE J��K �+5� ���&� ��(L #� M)L�
 ���@)&�� #� .BN�):���  P:,Q��7.(  

7.3.2    ��2 3456	�
)��� 785��� 	9�4 :;< =4>��  

 6V�R�� �+�� 
 6���|��� ��~T5�� �+� .��R�� *#�� ���+�� X;U Z
���� *D� E��F 
 O'? tY ��#$�� �3�*� )&�
.<�R� l��(� �? �d��� *#	 �? !/�5�'� VV��� *#	 ­�v 9�*J K�L .#,�$� .��0n� �+� �,����� )z X*m� V�m� ��~T5��  

����� o�² 
���� *D� E��F 
 !+m�� P�,5'(� C���v( �+�? �v �+� C*�q� Gm� Z��~T5�� 6V�R�� �+�*� �#�
 *#�� .�� }��� C���v( e�
B� �+�B� �q� �$�5� Gm�� .�$V��Un� ��~T5��� ����� P�,5'(� �(���v�A (dB) 
   �+��

 V�� G�n  �dv��� �d'�) G� ��~T5�� G�1:(  

(30) ( )∑∑
−

=
+

=
−=

1

1

1

1

n

i

C
ii

n

i

iT PPPP  

(31) )(0025.00052.05.0
BA

ddAC +++=  

 ��vPi  o
*��� P�,5'(� C���v� !3 6~T5+�i-th  [�]Y G�n � ��~T5�� G�di  )��� C*0(km)  6~T5+�i-th wx� .
 ��V�R�� 4��I�J�(31)  X*m$ �����A ≥ dB 40 �km 120 ≥ (di + di+1) ���
 X*m� V��q� 123 �*U� .C = 1.  

�!���" �1 �  ��%�&�� M)L �@9R� S(31)  M)L JB:T� ��4��0 'U�(� �� ��%��(4�19 � P�3�V(�� ��NQ,�� #� ��T3W  X+&� :9��� DY
�  Z0�
���4  36  GHz  #� %3.! � ��� ��@�=�333  ��km 64.  

4.2 ���� ���� 	
�� 
�����  

 Gm��� G� O'? o�� .e�#`��� V³�³#��� k*+r��� �,�� Hr� _*D� 9���� ��r�'(�� ������� �|��' l3*��� <�`$? ­�� X? Gm�
 G� �V? ��VV�� ��� �,��� l3*��� H3��GHz 5 Y Z<�#$�5�(   Z�+�B� ��VV���� ��� ������� �����v 
 O:��VY wx O'?

 6�*�� O���? �$�~�� ��v6�5T�� !,R�� .P�J? 1.4.2 ? .H$*,�� W��� �+� �,��� l3*��� ���/��vY �$�5� ���5���  �+�
 <���3*� �#0��� k*+r�� w#�� X? Gm� Z�V? b�� �*,	 ��� �RT���� ��)��� 
 �? Z����� b�� �*,	 ��� ��)���

���*��� 4�5�� .��VV���� G� oJ�? W�� �+� ¢v <���(V ITU-R P.840  9��� O##�$ _2�� l3*��� G� <���T� �r@? ���*+R�
.�,�� )z G� _*D�  

 �$*��� w���� E�`� X? Z��)��� V�R� w#�� *#��� �,��� l3*��� ��)��� �=�U ����� X? wx %�� ��VV���� ��� ZGm�
.l����� l��3 G� Hm� �+��5�� lR� *#	 .�� }��|��  
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1.4.2  ���� 	
�+
'6!���1�� ?5"� :;< �1"� @��� AB  

:H$*,�� W��� �+� �,��� l3*��� ���/��vY �$�5�� ������� �,��#�� ���5��� H�R��� X? Gm�  

 �����1:  �,�� C�R� w��R0,01  9���? 1}��� ´ _2��%0,01  �LY� .(6�v�� �5�
V G� H��m� i
� o�) i
*�� G�
�  ���*+R�� G� <�
�,'� �� �$�5� 9��:Y Gm� Z��+� �V��� G� H$*,�� W��� �+� ��J��5�� C*v ���*+R�� 123 �U*��

 ���*��� 
 ���5��ITU-R P.837.  

 �����2: lR�� l3*��� w�� (dB/km) γ
R 

 ���*��� tY V���J(�� ���R�� �,�� C�R�� e�,5�J(�� VV���� H��*� H:? G�
ITU-R P.838.  

 �����3: � C�RT�� )��� C*0 w�deff  !+RT�� )��� C*0 e�8 C�	 G� �+�*+�d  �U���� H��R�r �
�R�� !,R�� .
:H��R�� �2� <��$�5� �������  

  
))024.0exp(1(579.10477.0

1
123.0073.0

01.0
633.0 dfRd

r
−−−

= α⋅ (32) 

 ��vf (GHz) � VV���� *3α  6*,�� 
 V��� l3*��� kL*¨ 
 �B� *32 �U���� H��� µ+#$� .r  ��
B���*��  O�2,5 

LY  ��V�R�� 4��I�J� ��$ ((32)  ¶��&�� �J�5+� 6)"��� ��5+�%�� �.Q@? <���
 !,R  

 �����4:  9���? 1}��� ��$ _2�� )��� �+� l3*�+� <��$�5� ������� �
�R�� !,R�%0,01 :i
*�� G�  

 A0.01 = γR deff  = γR dr                dB (33) 

 �����5: �
 ��I�J� Gm� i
*�� G� W�	? �$*�� �#�' 9���? 1}��� ��$ _2�� l3*��� �p  W��� 
G� %0,001  tY%1 
:[���� !JB� X*'�5�� tY <�V���J�  

 

( )pCCp
pC

A

A
1032 log

1
01.0

+−= (34) 

:o�  

 

( ) ( )[ ]00
1

1
12.007.0

CC
C

−=  )35(?  

  ( )
002

1546.0855.0 CCC −+=  )35(e  

  ( )
003

1043.0139.0 CCC −+=  )35(k  

:��v  

  
( )[ ]

⎩
⎨
⎧

<
≥+=
GHzf

GHzff
C

1012.0

1010/log4.012.0
8.0

10

0
  (36)  

 �����6: i
*�� G� �$*���� �$*��� w���� w�\ ZO�U <��*z�� ?*JB� �=&�� ���/��vY �+� C*�q� X*m$ ����� p 
 �$*��� w��+� �+��5��pw  ���*��� 
 6V��� §���� G� ���*+R�� C�	 G� Z?*JB� �=&+�ITU-R P.841 tY �#������ .

��
 A i
*�� G� ���R� �$*�� w��� �3}��� ��$ %�� p  G� �+��5�� �$*��� w���� 9���? 
 <�`$? �3}��� ��$ Z����� ��J? �+�
 i
*��pw .?*JB� �=&�� ��J? �+�  

��� 9��:Y Q�R$� tY H�� ��VV�� ��� H
B� �+� Z��R�� 9��? H@ 
 <�q�� 1��? O��Y ��&�� -#�GHz 100 ��
 H:? G�� Z
 tY H�� )��� C*,�km 60.  
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2.4.2  ������ C�;D��4 �1E;� �F��&� �����  

l3*��� Q�R$ Ap  i
*�� G� �$*�� �#��� 1}��� ��$ _2��p  ��)�� �#����� <�$��J .����� !��T�� ��5�� G� O�+� H�7����
.�5U �+/���� ��,�c� C*,3 ���	 ­�� %�� �+�*��  

i
*�� G� �$*�� �#�' 
 l3*�+� Q@? ��
 }��� Gm� Z�+�*+� ����R�� ����T��(� �? ����R�� b�R�� �*,� �#����� p  w#��
�? �#/�2�� �+r�� �����: )���  <�5#0 �+�*�� P�T��� �,J�*� )����� �23 ­��v �$�\ ��$� .��=�'(� �5#0 
 �#0��� k*+r��

�� *3� �,�� P�T��(  ������� �5$�,�� 
 �,� P�T��� �:�V �T� 1��
 )"� ��#��(� 
 2	-$� .
��"D� o
*�+� <�5#0 S+�«
 2	��49  o� �,�� P�T��� �J*�� �#����� P�T��� ���
C��D�� k��� �=�� ���
 Hm� wv��� C���v� 1.  

( �+�*�� X? �U�R� C�v 
 ��*+,� )z ������� �5$�,��� <�5+,� �����  wx ZK�L �U�R� 4�� C�v 
� .��=�'(� �5#,�
 e��q 1��? 6V��*�� �,��� ����� �����q� 4��I�J�Ap :K�L �R� ������� ��*,�� P�#�� ¦  

 �����1:  Z�J*��� �,�� P�T��� �+� C*�q� ��$hrainm �7#�� h,J W*��� �J*�� �*U ����? G� 6��#� *3� Z(amsl) 
 ���*��� G�ITU-R P.839.  

 �����2:  Z�+�*�� )�� ~@�M ���� �,�� P�T��� w��hlink ��#��(� 
 b�B� h,J �*5�� �J*�� 2	? o� Z
:�"���� 4��I�J��  

(37) amslm)17/()(5.0 2

21
Dhhhlink −+=  

:��v  

  h1,2:   �+�*�� 
�0 P�T���(amsl)  

  D:   )��� C*0(km).  

 �����3:  �$�7�� ��#�	� 9��:Y X�� Gm���  X�@ �L;U .
�8Y l3*� ­��q ��'�m�Y ¶��3 i'�@ �LY hlink ≤ hrainm – 3 600 Z
 ��#��� Gm�� ��=�'(� �5#0 E��d� ����� G� �+�*�� X;UAp  *3 tY �#����� }��|��� l3*���%p  i
*�� G� E�5$Y Gm��

:������� ��*,��� ����� �5$�,�� X;U ZK�L E�	� .�5$�,�� 123  

 �����4:  Ze�8 H��R� 9�#�� ��$F.�T� 1��
 Z  

 �����5 : �#����� �
�+� �R������ ��5+�i  tY �T� G�48:w������ �+� Z  

 ( ?   Z�,�� P�T��� e��v ��$hrain:�"���� 4��I�J�� Z  

(38) amslm1002400 ihh
rainmrain

+−=  

(e  :�"���� 4��I�J�� �,�� P�T��( �#����� �+�*�� P�T��� e��v ��$  

(39) m
rainlink
hhh −=Δ  

(k   �
��� G� ���5�� 12� e�`�� H��� tY �U�`�� ���5�� e��v ��$i:  

(40) iPhF )(ΔΓ=Δ  
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:��v  

Γ(Δh):�"���� G� O�+� H�7�$� �,�� P�T��( �#����� P�T���� <�5#0 6V��� l3*��� ��
 E��	� !���$ e�8 H��R� Z  

(41)  
( )

( )
⎪
⎪
⎪

⎩

⎪
⎪
⎪

⎨

⎧

−<Δ

≤Δ≤−

⎟
⎟
⎠

⎞
⎜
⎜
⎝

⎛
⎟
⎠

⎞
⎜
⎝

⎛ −−⎟
⎠
⎞⎜

⎝
⎛ −+

−

Δ<

=ΔΓ
ΔΔ−

Δ

12001

01200

1e14e11

e14

00

)(
270/

2
)600/(

270/

2

h

h

h

h

hh

h

 

�Pi  P�T��(� G� �+�*�� O�U X*m� X? Gm� _2�� C���v(� !3Δh  C��D� G� 6L*	�� C���v(� ���
�1.  

( V   ��$�U�8Y ΔF  H��R+� ����q� ���5+�F:�"����� ���� 9��:n�� ��+�R�� 123 H�r� Gm�� .  

(42) dBFFF Δ+=  

 �����6:�"���� 4��I�J�� �#0��� k*+r��� �,�+� o�·� l3*��� e��v ��$ :  

(43) = ⋅
rs p

A A F  

 X*m$ X? Gm� Z�J*��� �,�� P�T��( �#����� �+�*�� P�T��( <�5#0�Ars  G� H
? �? G� Q@?Ap G� e�5��� Gm��� G�� .
 X*m$ �3���� �,�� P�T��� �*U 6V�� �+�*�� X*m� X? b�B� ¸,
Ars .<��T�  

D�£ C��1  

�����"i" ��	
��� 

Pi
 

  
��� �� 

0 48 0,000555 

1  47 0,000802 

2 46 0,001139 

3 45 0,001594 

4 44 0,002196 

5 43 0,002978 

6 42 0,003976 

7 41 0,005227 

8 40 0,006764 

9  39 0,008617 

10 38 0,010808 

11 37 0,013346 

12 36 0,016225 

13 35 0,019419 



�������  ITU-R  P.530-14  

  

17

D�£ C��1 )��	
(  

�����"i" ��	
��� 

Pi
 

  
��� �� 

14 34 0,022881 

15 33 0,026542 

16 32 0,030312 

17 31 0,034081 

18 30 0,037724 

19 29 0,041110 

20 28 0,044104 

21 27 0,046583 

22 26 0,048439 

23 25 0,049588 

24 0,049977 

3.4.2   G�H5�88���� ���1�� ?5"� :;< �1"� @��� AB���� 	
�+
'6! I  

 C*�7+� ������� ��#$�|��� �
�R�� C��R�J� Gm� Z�v�� VV�� ��� H$*0 W�� �+� l3*�+� �
*�*� ���/��vY �:*� �����
#$�5� �$�5� �+�  G� W��� 
 �R
�*�� W�	B� ��VV���� ��� l3*��� ���/��vn !7  tYGHz 50  6~T5�� C*0 {T��


� :��	���� �5,��� {T'  

(44) 
),,(–1

1212
121)/(
AH

AA
ΦΦΦΦ=   

:��v  

(45) 
24–

2

101
)(

f

f
f

+
=Φ  

(46) 
55.0

11
5.0

12
3

121 )()/(1012.1),,( AAH ΦΦΦ×=ΦΦ −
 

 ��vA1 �A2 ��  G$VV���� ��� �,�� l3*� 
 6V�$~+� C���v(� 
 X��$����� X����
f1 �f2  ���v*�)GHz.[�*��� �+� Z(  

4.4.2   ?5"� :;< �1"� @��� AB���� 	
�+
'6! I J
1���-� G�H5����1��  

!J?�) �v�� e�,5�J� G� H$*0 W�� �+� l3*�+� ���/��vY �:*� ����� (V) !5U? �? (H) Gm� Z���R� �+�� �+� (
:������� �,��#�� �
�R�� �,J�*� �=�T' �+�*�� �+� �	�� e�,5�J�� l3*��� �$�5�  

(47) dB
335

300

H

H
V

A

A
A

+
=  



�������  ITU-R  P.530-14  

  

18

�?  

(48) dB
–300

335

V

V

H
A

A
A =  

R�� X���3� 6�5T�� 
 6V��*�� -#���� �5$�,� �q���� ��VV����� ��)��� C�*0? W�� 
 X��q�� X��
�1.4.2.  

5.4.2  ��K� 85� 	
�+
'6! LM456 	���4  

#$�� kL*¨� ���,R�� gR� �U*�� �23 ���*$ ¢v *#�� V�� !��R�� o$}*��� G� ���*+R�� �+
 G� �z���� !  ���/��vn� gR#�
� .O���v ���� V��� *#I+� �,J*��� 6��� Hr� ����� V�R� w#�� *#�� C�R� G� )rm� H
? �,��� *#�� C�R� X? h8�*�� G�

.*#�� V�� o$}*� S��f tY K�L )&$� *#�� 6�� �,J*��� ���5��� �J*�� ���5�� S+�f ZW�	? ��v�' G�� .��)��� <6��� 
K�L �+�.6V�R��� ��)���� ��&�'(� C�v 
 �=�� )rm� �+�? �,�� 
 *#�� 6�� X? �+� C�� 6)r@ ����� ¶��3 Z  

 l3*��� ���
 }��� O'�� ��3 *#�� V�7�$�A �� 6��U 9���?  C�r�) i
*�� G�s 10  ���� V�� l� ���R�� �,R�� .(�r@? �?
 *#�� ­��vN(A)  �,J*��� 6����Dm(A) � ��+m�� 6���� *#�� �2T(A)  l3*��� }��� ��$ %��A  ����} 6��U 
 �39���?

:��V�R�� 
 6V�� ���
 G� C*0? 

 N(A) = T(A) / Dm(A) (49)  

 ��+m�� 6��� .+R���T(A)  l3*��� *3 <��*�� ��5�#,��� �=$ _2�� *#��� .*#�� ­V�v S$�R�� *#I+� A  O��� _���� _2��
 �*T� �?s 10 O��� X����� H��U Hr�) ��
B� *#�� X? )z .s 1  G� �$*��� �#���� �$�7�� <�`$? ��T� (e��|��� 
 H�R��$

 �*T� �? _���� %�� *#I+� ��+m�� 6��� _?) ������ 4�� G� �:���� !+m�� P�,5'(� i
�s 10.(  

 l3*��� ���
 }��|�$ _2�� *#�� ���� V�� H�r� Gm��A  9���?10 ������� ��V�R��� �r@? �? X�*�  �dv��� �d'�)(1: 

 [ ] 945.0
10 )(13131)( ApAN

s
⋅+= (50)  

 ��vp(A)  ����� 
 �,�� w#�� l3*��� }��� �=�U ��$ %�� i
*�� G� �$*��� �#���� !3.�,J*���  123 �U*�� � �LY�
 ��V�R�� Hv .$�0 G� �=�+� C*�q� Gm� ZH:B� �+$*0 ��J��5+� ��+� �V��� G� ���*+R��(34)  6�5T�� 
 <�$V��1.4.2.  

������ �1 �  �	
���� 
����(50)  ��� ������	� ����� ������� ��� �� ���  !"#27  ��

$� %& '�"()*+ ,)�$�� 12,3  ��
GHz 83  -��� ���./) *+1,2 )43 km .���)1) 2�+��	�) �3)$�	�) 435�6	� 7  

E�̄R��  P�,5'(� 6��(OI) �>��  4�� ­��v? ?�,� Z���
� �$*$V�� �+�*� �#������ Z��J H@ ������ 4�� ­��v? V��
 lR� C�R� }��� ´ ��+@ ������� �*T� ����T� ���#�� 
 �,I+10  .�X�*�� !"#�$� 6�&� -#��+� [���� e*+JB� C��R�J

 P�,5'(�w#��  l3*�������� �+� �,�� :6�v�� 6~T5�  

 �����1:  i
*�� G� �$*��� �#���� �+� C*�q�p(M)  �+�*�� ���3 }��� �=�U ��$ %��M(dB)  .�,��� l3*��� w#�� �LY�
 ��V�R�� Hv .$�0 G� �=�+� C*�q� Gm� ZH:B� �+$*0 ��J��5+� ��+� �V��� G� ���*+R�� 123 �U*�� �(34)  <�$V��


  6�5T��1.4.2  ��vAp  =M.  

 �����2 :<��$�5� ������� �
�R�� !,R� :�,�� w#�� P�,5'(� 6�&�  

  )()(
10

MNMOI
s

=  (51) 

 ��vM(dB)  ���5�� �,R�� sR�� 6��T�� �,	 C�R� �? ���#�� 
 �,�� C�RM �#���� �+�*�� ���3 *3N10s  ��V�R���(50).  
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 O�*0 )��) ��J��5�� H�p h��$�km 15  VV���GHz 18  6�$~D� O#� 
��U�'��mJn� (P�:�n�  �#�' ������ 4�� tY
 l� ������%95 �%100 ]���� �3�*d�� o�] G� �3�*��� }��|�$ %��� �,�� G� �dB 15  9~D� �23 �U�R� �R�� .<�#$�5�

 e��v Gm� 4�� l3*��� ���
 }��� 19���? ��$ _2�� i
*�� G� �$*��� �#���� 
 O��8 .$�0 G� ������A  w�v ���R��
 6�5T�� 
 6V��*�� �5$�,��1.4.2.  

6.4.2   	
N�&�� I �1"� �< OP
��� ��K�	�
)��� 785���  

<���V _*D� 9��+� ��d���� )z ���#�� �=�U _V-� %�� �,5' tY �,5' G� ��m#&�� 
 ���3 ��~T5�� 6V�R�� ���m&� 6�� ¶��3Z 
(�  .����� P*�� ���R� �m#� 
 ��~T5�� G� ���+J 6�� �? ��UV��� �m#� 
 ��~T5�� G� �+�+J _*\ %�� �+�m&��� ���J  

1.6.4.2  	�
)��� Q�� ��R8��� �N�S I  

 �+�*�� .5\ X? Z<�'��v? ZGm�� .�T+�I�� ���*�� ��&�'� ª/��N )#@ �v tY 
V��� 4�d�� [�]n� C�J�n� 9�V? ����$
 �(���v� 6V�$} tY ��~T5�� C*0 6V�$} <���v _V-�� .��~T5�� C*,� �T+�u ��#�@�� �,J�*� �=�T' ����]n� �$V���

(� �
� Z��~T5�� V�� ª�5�� 6*,�� 123 w+,�� X? ZW�	? ��v�' G� ZGm�� .��~T5�� 123 �+� P�,5'(   tY K�L _V-$
.
V����� 4�d�+� [�]n� 9�VB� ��,��  

2.6.4.2 ��R8����� 	�.�"� :;< ������ ��2  

[�]n� C���v(� V�7�� ZX�m�� G� <��/��vY <�5��� ��,�B� C*,3 X�@ *� Z��UV����� ���*�� G� ��,	 �+�+J 
 *#I+� 
:������� �
�R�� �,J�*� Z��: w$�5��  

 ∑
=

=
n

i

iT PP

1

 (52) 

 ��vPi  �#���� G� �+�*�� *3i  !+@ V�� �+�n .���*�� G�  

 �+� l3*��� <�`$? h#�$ Z6V��� �5,�� �+� �,����� ZW�	? ��v�' G� ZH0�*�� ­��v? i'�@ �LY� G� �r@? �? l�+��
:[���� *7��� �+� w@��� *#�� C���v� w�m$ X? ���q� 123 
 Gm�� Z<�,����� ��~T5�� V�R�� 4�d'  

 ∑
=

=
n

i

iT PKP

1

 (53) 

 ��vK .��,�B� C*,3 ������ [�]n� )����� H�&$ H$�R� H��� *3  

(  �vY i��3� �
� .P*8*�� �23 C*v 6)r@ ��J��V �:*� �T+�u o
�*� 
 ��,�B� C*,3 l� ©�� ������� �J���� �3�
��� .$�0 C*0 �+� o5� � �#
��� tY W�	? �J��V ���� ����� ZS��*R�� �@�q �/���� 1���� <�#$�5� �$}�*� Ze�z

C�¹ �=:*�� 6)�5�� ��~T5�� G� �+�+J �+� H��q� l3*�����/���� 1���� <�#$�5� �$}�*� �? e*�:  H�U 
 S��*R+�
.��,�c� C*,3 ��
?  

�=�� H@ C*0 µ+#$ ���*�� G� �+�+�� ������� ��)��� i'�@ ZS��*R�� �@�v 1��( �$}�*�� ���*�� ���v tY �#����#U  l 
 G� �r@?km 40 H$�R��� H��� X�@� .�T�R8 ��)��� ZK  G� Q@? ���q� 123 
0,9  O��� �,�� Or7��$ P�,5'(%0,03 Z

 Hm&�� �d'�) O+3�� ¦ G� Gm��(5 P�,5'(� C���v� X*m$� Z��(V �r@? ��)����� h#�� Z��
? ��~T
 ���v 
 O'? )z .
 H:? G� [�]n�10  C*,� ����20 �10 �km 5  w��� Z�=�� Hm�%80 �%65 �%40  �+� Z��#��(� 4�� o
*� G�

 G� H$�R� H��*�) [�*���0,8 �0,65 �(0,4.  �+�+5�� t�B� ��~T5�� 
 Q@? X*m$ ��,�B� C*,3 ��#��� )��� X? ��#$�
¦  ��+@ C9�`�$�$�~� .�+�+�+� [�]n� C*,��  
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 Hm&�� l#$�6  ZH$*7��� H��*� gTI��� .�T��R�� �@�q �/���� 1��(� o� ���R�� 1��� 
 ��&�'(� ���v 
 H$�R��� H��*�

  P�J? Hm&� Z���q� 123 �º 6)�
 ��U��� �+� W*
? ��#��� �+� C�� %��) �+�+5�� t�B� ��~T5�� 
   ���v 
 O�+� *3

���U ±U�\� Z(S��*R�� �@�q _}�*�� ��&�'(�  �� �23�) <��#�' ����� ��
 �+� �R�  .(�+$*0 ��U��� �+� SR8? ��#��� �+� C�$  

3.6.4.2 H
�"� 0��� 	
N�S  

 tY <��d'­��v ��'�m�Y �*=+� ��5UB� ���#�� 
 )#@ )�"�0 �
 ����� E��	�� ��m#&�� X;U ���*+�m�� G� H5� �U��� �+� H
 ��m#� 
 P*���� l�\ X�&� ���*+R� �U*� 4�� G� �z����� .�r@? �? E��	� _���� 
 �r@? �? l��UV��� l�~T
 �`�

 gR#� �5+R��� ��'��#�� gR� �:*� �+��m�� ����� P*�����U <��*�	� �m#&�� 123 �����  1���� l���5��� G$)���� .+R�$
.<��5U? 6���#���� �$}�*��� O#� ��)���� �m#&�� 6�5�  

  

&��£ Hm5  

 �������	� 
��
	� �� ����� ��� ���� ���� ����� ��
�	 ��!"�	� ��#�  

 $��%#��� &�
'( 
�)l$  *+!, -%#. &#/�01%0,03 ���% �2	  

P.0530-05

2 3 4 5 6 7 8 9 10

l = 80 km
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1.3.6.4.2  ���H
���� 	�.�"�  

 ���*��� 4�5�ITU-R P.1410  ��:*�+� W�� �V? 
 �����5��� ��)��� 
 E��	(� H$�R� H��� G� ���*+R���+�$���� .
 �5,��� ����� �,5' l� ��5�#,��� b��zB ���? �
 ���*��� 123 X? G� �z����� Z�� X�&� ���� ����+R� !,R� �>;U

 E��	�� �m#&� ����R�� 123 Hr� O�+	V? _2�� l�7����.l�,5' tY �M�� �? �,5' tY �,5' G� (�m��&�� �?) )����  

 �,5' G� �����5��� ���*�� <��'� b�R��� ©�m�� o$}*���� {5,+� !/�*&R�� )"��� w#�� �T+�u *#	 C���? tY �,5' tY
 6���n� tY H	����� �#�' 
 ��,�� K�2� �|��' H�� �
� .�,�� C*,3 C�R�S/I  l+�R���� l� ���*�� l�


 ( ����� �,�� w#�� �3)�� 
 6���n� *#	 ­��v ��� �T+�u �$��} ����,
 ���$.K�2� H	����� �  

�,�� G� �:���� !+8�T��� !�@����� *#�� o$}*� �$�5� Gm�� (DRA)  VV���� {T�� l�+��� l����5�� l�+�� 
 P�#���
��*,�� �������:  

 �����1#$�5� H��R� C�	VY :  �,�� w#�� l3*�+� _*���� o$}*�+� !Ai (in dB)  )�� H@ Q�= i 1,2  H��R� C��R�J��
:_V�R��� H$*,�� l$��� l� �����$ o$}*�  

 ( )
⎟
⎟

⎠

⎞

⎜
⎜

⎝

⎛ −
=

ai

mii
i

S

AA
AP

2

lnln
erfc

2

1
 (54) 

 ��verfc(x) = ∫
∞ −π
x

t
dte

2

2  ���V !3 .��+��m��� �,��� l��5�� e��qAmi
 

� Sai$ Z��* C��R�J�� n� 9��:�� wJ��
 6�5T�� 
 V��*�� �,�� G� �:���� l3*��� o$}*� �? �v���� ��+�� ��J��5�� �+�1.4.2 ���*��� G�  ITU-R P.530-12.  �23 V�$�

 .7+�� 
 H��T���� 9��:n�2  ���*����ITU-R P.1057-2.  

 �����2 : �,�� G� �:���� {'�|��� 4�� i��� �$�\Dr Z_?  ��v ���*+�m��� �U����h#�$  H��R�<�$���� �������  ���5+�
22 e��q �,��� 6���
 ���R�� .Dr  .+,�� b�R�� �	 �+�|lat| o
*�+�:  

 

o

o o

o

1 | | 23

1.5 23 | | 50

1.75 | | 50

r

lat

D lat

lat

⎧ ≤
⎪

= < ≤⎨
⎪ >⎩

  (55) 

 �����3 �3��#���� ��,�B� �*5J �5,�� ���R�� �U���� �$�\ :Dc = 20 × Dr.  

 �����4 ��'�m�� ��+R�� ���5� :Hi Z= i 1,2  C*,+� H$�� )�� H@ Q�Li:  

(56)

 
( ) ( )21 2

2 sinh 2 1 1
i i r i r r i r

H L D L D D L D
− ⎛ ⎞= + − +⎜ ⎟

⎝ ⎠
,   2,1=i  

 �����5 ��'�m�� ��+R�� ���5� :H12 :G$����� l�  

  ( )∫ ∫ρ=
1 2

0 0

21012

L L

dddH ll  (57)  
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:��v  

  ( )
2 2

0

2 2

r

c

r

r

c

r c

D
d D

D d
d
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D D

ρ

⎧ ≤⎪ +⎪= ⎨
⎪ >
⎪ +⎩

  (58)  

� ������� ��V�R�� !,R� �$��} Hm&� %�� l+$�#�� G$����� 
 l�,5' l� �U����φ:  

  220 L≤<l ’11
0 L≤< l      ’

φ−+= cos2 21
2
2

2
1

2
lllld  (59) 

 �����6:�,�� G� ������ l3*�+� ������� H��R� e��v :  
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⎤
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⎢
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ρ  (60)  

 �����7 :!�@����� o$}*��� ������� �
�R�� !,R�� �  DRA A1-A2 ��_2  �#�R�� }��|�$δA )����$H#��:(  

  1
2
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2
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12

erfc
2

exp
2

1

2

1

2
erfc

2

1
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uuuu

P

a

a

u

DRA
⎟
⎟
⎟

⎠

⎞

⎜
⎜
⎜

⎝

⎛

ρ−

ρ−
⎟
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⎠

⎞

⎜
⎜

⎝

⎛
−

π
−⎟

⎠

⎞
⎜
⎝

⎛= ∫
∞

 (61)  

:��v  

  ,           2,1=i 
ai
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i

S
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u

lnln −
=   (62) 

 
1

1
01

lnln

a

m

S
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u

−δ
= (63)  

  
( )( )

2

2111
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lnexpln

a

mam

S

AaSuA
u

−δ−
=

 

(64)  

2.3.6.4.2  ������ �	
���
� ������
� ����
�  

 
 6�7��� �m+��� 
 iR] ���,R� 4�5��� W�GHz 40-20 ��� O5�5\ Gm� _2�� �+�*�� �$V����� 
 G�7��� G� <���V 
��R�J�C ��m#� 
 �$}�*��� ��)��� ��)��� H$�#�� E��	(�  Hm&�� 
 l#�� *7��� �+�6?? .��  P*���� w�@

?)_  l3*��� l� ��T��(dB)  ��$ _2�� l3*���� 6�v�� �+�� �+� i
*�� G� ���R� �$*�� �#�' 9���? 
 1}��� ��$ _2��
:[���� *7��� �+� X*m�U (l�$}�*�� l�+�� �+� �v�� X� 
 1}���  

�  +@ ª
����� tY H����  G� )��� C*0 V�}km 12 #'�: H�U H:? G�� i
*�� G� ���R� �$*�� �#�' 9���?  lR� !
G$)��� l�a  

�  X*m$ 6V��  G� H�U ���v 
 Q@?km 8 º�  ���5� H�T�� X*m$ ����� O�+� *3km 4 6���#�� 123 6V�$} X? o� Z
 tYkm 12 ( <��U�8Y <���\ �U*�a  
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�  (   W��� H	�V <�J*�+� <�5+R� VV����� .+R�$GHz 40-20 ���R� �J��3 tY �#������a  

�   l� �����$dB 2,8  9���? <�#$�5�%0,1 � i
*�� G�dB 4,0  
%0,001  G� 6���#� o� Zi
*�� G�km 8 
C*0�  l� ��5�� ������� .<�#$�5� �=�T' ���5��� )��+�1,8 �dB 2,0  G� 6���#� H:? G�km 4.   

 P*���� l�\ ��5��( ��}��� ��*,�� !+$ ���U�I  P*���� w�@�G �$}�*�� �����M .+R$ ���U <����:  

&��£ Hm6 

( � )  ������	� 
���
	� ���� �����.  

(�  ����� ������� ���� �� ����� �!� 
���
	� ���� �����. 

P.0530-06

L1

L
2

DS

S
1

L
1

S
2

L
2

ϕ

  

 �����1 ��*,�� P�#�� :1  tY4  6�5T�� G�1.3.6.4.2.  

 �����2 e��v :H12 ��V�R�+� <�5U� (57) 6*,�� 
 H$�R� ¶��3 Z�$}�*��� ������� e��5� G� �J���� )"�� <��d' .5  G�
 6�5T�� 
 l#�� 9��:n�1.3.6.4.2 �U���� S$�R� G� QR¤$ Z��	 O:*�� .d  �+�R���� �+$�#�� )��� ����� %,5' l�

 ������� H��R� e��qρ0(d)  ��V�R�� 
(58) :!+$ ��@ ���q� 123 
  

  220 L≤<l ,110 L≤< l
     

( )22121
2222

2 llll −+−−+= DSSd  (65) 

 �U��M �$}�*��� ������� l� <��5U? H�T¤$ ��vD �S  Hm&�� �d'�) l+J��� l� �U���� !36(?.  

 �����3:  6*,�� ���m�6  6�5T�� G�1.3.6.4.2  ���
 C��R�J��H12  6*,�� 
 6������2.  

 �����4.�� }��|�$ _2�� _}�*��� P*���� �+�m&�� !�@����� o$}*��� �,R$� :  *#��Ai :������� ��V�R���  

 ( ) du
uuu
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a

a

u

id ⎟
⎟

⎠

⎞

⎜
⎜

⎝

⎛
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⎠
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⎜
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⎝

⎛
−

π
= ∫

∞

12
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2
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2

1

2

1 1
2

2

 (66)  

 ���5�� �,R� ��vui Z1,2= i  ��V�R�� 
(62).  

 �����5 P*���� l�\ �+� C*�q� ��$ :I  !R:��� l3*��� W*��� ���Ai :������� �
�R�� tY <�V���J�  

    ,              i=1,2 
)(

)(
)(

id

i
i

AP

AP
AI =  (67) 

 ����TX1  ����	�RX1 

 ����TX2  ����	�RX2 

 ����TX1  ����	�RX1 
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 �����6 P*���� w�@ �+� C*�q� ��$ :G  ��R:��� �$*��� �#���� ���t  �dv��� �d'�) ������� �
�R�� tY <�V���J�(1:  

    ,              i=1,2 )()()( tAtAAG dii −=  (68)  

������ �1 �  	
��Ai(t) 
Ad(t)  ���
��� �(68) ����
��
� �
����� ����� �(54) 
(66).  

 ��V�R�� {mR� _V�� H�+\ .�#,� !"#�$(66).  

 Hm&�� 
 h8*� *3 ��@ ZgR� ��=`R� o� <���� l$}�*�� ��>*@ G� l+$�#�� G$����� E���� ���v 
6 �$�� o0�5�$ Z(e
 l�U���� 
 ���R� �,5' ��� l�+�*��S1 � S2 (l�7���� w�m��) P*���� 6���: H��� e��q Z<�`$?� .C�J�n� _}�=: G� <�
�,'�

 ��*,�� ��m¤�1  tY6  ���
 �,R� ZK�L o�� .[�q� ��5�� G�d  ��V�R�� �,J�*� ���q� 123 
(59)  X*m��H12
 

:[���� *7��� �+�  

 ( )∫ ∫
+ +

−=ρ=
11

1

22

2

2121012
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S
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S

dddH llll (69)  

  

&��£ Hm7  

�������	� 
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	� �� ����� ��� ���� ���� ����� ��
�	 ��!"�	� ��#�  

 #$%� �& '
(km 4,6 
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	� �� ���) �*	 +)#,�	� '#-�./ 
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� 0!"	 1#���23  

P.0530-07
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4.6.4.2  ������ �����! �����  

1.4.6.4.2  "#���� $���� ������  

���U  P��T�� P*�p) �r@? �? l��T�� ��L ��)���� .+R�$N %��� �+�T�� ���@�� _*��� �=�� Hm� H�R��$ %��� (
 �dv��� �d'�) �+�+
 ��:�V ���T� �$}�*�� �=���U X*m�1 C��#�J�� )��� C*0 �+� �,�� G� �:���� l3*��� w�� Z(

:[����@ )��� C*0  

  d = dleg1 + dleg2 + ... + dlegN     km (70) 

 6�5T�� �5$�0 
1.4.2 �M   ��V�R�� 
 �U���� ª
��� H��� e��v �=�U(32).  
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������ �1 � �  ���
��� �� !��� "
�#�$% &'���� (
�% �)� * �+,
 .-
�'���� /#�$0 �1�12 3$� �%(
4 -
516�0 7
8�, "
1�
� �)9(70) 

 :;
�0 <%
�r  ���
��� �(32) 
= '�4>  <2 3
5��?� �6)@�� ABC <� ��D��� E;
 .3
���� �6)�� �C$�6� '�EF0 7$? <GH I
��
�
 JK
 ���
��� �%(70) .L?$��� 	
�� M NE� O6� <2 :;
���� <%
� 	
�� � &'�0 'PQ
 3
> R�
S TU V�'W �� !0
��� X��� 3$W
  

 6�5T�� �=�+� ª�� %�� �5$�,�� .�#,�� �+�T�� ��)�� ����T��� ��#��� 
 G�m� �+$�� �5$�0 �j�6.4.2.  

2.4.6.4.2  ��#���� ���%��& ������  

 
 6V��*�� �5$�,�� C��R�J�� l3*��� ���/��vY w�\ e�,5�J(� {T' �r@? �? ���� ���T� H�R��$ �����1.4.6.4.2 
���U _*��M .+R�$ .{@�R��  

 6�5T�� �5$�0 .#,� �T+�u ����,5�J� ����� ����T� i+�R�J� �LY�1.4.2  ��V�R�� o�(70)  !5UB� l��,5�J(� G� Hm�
 i
*�� G� l��
-�� l�#���� �+� C*�q� H:? G� _V*�R���pH �pV  �d'�) e*+,�� l3*��� }��� ��9���? ´ l�+��

 �dv���1 l��,5�J(� 
 ( ��V�R�� H�R���� .[�*��� �+� _V*�R��� !5UB�(70)  !+m�� )��� C*0 e��qdH  12�
 !+m�� )��� C*0 e��q K�2@� !5UB� e�,5�J(� H�R��� %�� ����T���dV  e�,5�J(� H�R��� %�� ����T�+�

 i
*�� G� �$*��� �#���� w�\ ¦ ._V*�R��p  l3*��� }��� �39���? ´ %��) )��� C*0 �+� V����d'�  �dv���2:(  

 %

VH

VVHH

dd

dpdp
p

+
+= (71)  

������ �1 � 
Y  N'F��� � N�(�$�� �F�'8�� Z>1.4.2  �% "
15;( 
[6�$\ �)9 ];$�� �% ��1�% ��$^% ���_ 7
�`> A#

a b /B�� �C$��� �8�0
 b R�� ];$�� �% ��$^�� ������ O6� 3$G�� <c>.��% �C$0 #

a 
C7
�`>  

������ �2 �  �[1�d �F�'W e�Ef�?� ��D��� X�2 <)@�
 'Pg� h���� i, �����
� 
[j�� /#�$��� �� X��� -
�'�0 k�'l� 3
� �
 ������ � ��'�F�� m6��1  N'F��� �%1.4.6.4.2  <)� �C$��� 	
�� ����� ��
�� ABC �
 .k�'l�� ��\ <c> �%.NE� O6� 	
8F�?�  

7.4.2   '�(�)*�+ ,�����-
 ./���� 01��2�  

 �,�� w#�� l3*��� }��� C���v� w�� Z���
� �+�� ����� ���Prain  �d���� *#�� G� �$��q� ���� _�����(dB) F 

)�d'�  6�5T��5.3.2 ���#�� 
 �,�� C�R� ((BER) :������� �"���� G� sR��  

 100/pP
rain

= (72) 

 ��v%p  �,�� w#�� l3*��� ���	 }��|�$ %�� i
*�� G� �$*��� �#���� !3(dB) F  H�*��� Gm�� �,J*��� ����� 

 ��V�R�� H° �=��Y(34)  6�5T�� 
 6V��*��1.4.2.  

3  ������ ��	�
 ���
� 	/�	 ������ ��	�
  

 
 6L�� ��:��� w#�� X? Gm� C*�*�� �$��} 
 <��: 6)#@ ��)"� Z)��� C*0 �+� 
���� *D� 
 ���m'(� H��V
 _*���� 
 <(�? ­�\� VV���� G� �+5��� O#� ��VV���� 123 X*m�� .�+#5���� ��:*��� �+J��� ��:*�+� ��,'(��

º �#0��� »0�*&�� .0��� 
 Q@? �$��~�� W�� X*m$� ���/�*=+� !J?����  �3�&� �� .�U�D� ��+	���� .0���� 
 O�+� *3
.H0�*�� �(�v 9���? ���(V ��)"�  

 ��~q� b�� X�@ �L;U .¼C�� w�@� �5�8 4~° ���/�*3 �=�U H�R��� �+$*0 ��)�� �+� <�)#@ )����� X*m$ X? Gm��
<�5�8Z #$ X? Gm�/6�V�"�� �:*�� 1��� �5M <���R� �+��*��� G� !Tm$ ) [(V *#	 ­�� !m� �*���d'�  6�5T��(3.2 �U�8Y� .

*�� �$��} �=�U X*m� ����U 9���? ���/�*�� S���� ­�v �LY ZK�L tY<��: 6L�� C*�  �5U(  ¦ G�� .<����r� S������ X*m$ 
r�) �:�v ��)�� �+� ���/�*�� S����� �����(��+v�J �5,�� 
 �+$*0 ��)�� H � �@���� G�7��$ 6�� S������ G

.4�$? �R`� G� 6��U 
 ����  
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4  ������� ��������� ���!��� "�#$� (XPD) 

 o0�5��� e�,5�J(�� ~������ b�R�$ X? Gm�(XPD)  6��5�� 
 H	��� H
? �:���� 6��5�� {T' 
 H	��� k��'n �E�@ ��,�� tY
 ~������ b�T�� ��#��(� 
 2	-$ X? wx� .6���·�XPD .K�2@ H0�*�� E��F 
� 
���� *D� E��F 
 ­�� _2��  

1.4   �������� 	
��
��� ����
� ���
� ��� ������  

 ~������ b�T�� ���/�*=+� o0�5��� e�,5�J(� ��,,I�� 6V�R�� ��)�� Q� ��&�'�� ¶��&�� )����� V��XPD  ­�� _2��
e��q .i
*�� G� 6)"� �$*�� w�' 9���? :6*,N 6*,	 [���� 9��:n� P�#�� lR�$ �+�*�� 9�V? 
 ��8�T�(� 123 )���  

 �����1: e��v:  

 

⎪
⎩

⎪
⎨

⎧

>

≤+
=

35for40

35for5

0

g

gg

XPD

XPDXPD
XPD (73)  

 ��vXPDg  ~����+� �VB� �q� *3XPD ����� O��`$ _2�� �q� _? C�#5�J(�� C�J�n� ���/�*3 �$��� �,5' ��� o
 ~����+� �VB�XPD .C�#5�J(�� C�J�n� !/�*3 G� Hm� �$����� �,5��  

 �����26V�R�� ��)�� Q� ��&��� ��+R� ���5� ::  

 ( ) 75,0
02,0e1 P−−=η (74) 

 ��v= P0/100 Pw  6V�R�� ��)�� ­��v H��� *35$ H��� i
*�� G� �$*��� �#���p
w

 (%)  }��|��dB 0 = A  �=&�� 

@ �J*��� ?*JB���  ´�V�R�� 
 O���vl� (7)  �?(8) ���q� w�v.  

 �����3�$�\ ::  

 ⎟⎟
⎠

⎞
⎜⎜
⎝

⎛ η−=
0

log10
P

k
Q XP (75) 

:��v  

 

⎪
⎩

⎪
⎨

⎧

⎥
⎥

⎦

⎤

⎢
⎢

⎣

⎡
⎟
⎠

⎞
⎜
⎝

⎛

λ
×−−= − antennastransmittwo104exp3.01

antennatransmitone7.0
2

6 tXP
sk (76) 

� ���v 
C�J�Y ����  _���R� e�,5�J�� Hr� lT+�u l�/�*3 G�(m) st  Hr�� !J?��� H��T��(m) λ .�+��q� �:*�� C*0  

 �����4 ��+R�� .�&� :C :������� �"���� G�  

 C XPD Q= +0 (77) 

 �����5 P�,5'(� C���v� w�� :PXP :������� �"���� G� 
���� *D� 
 o0�5��� e�,5�J(� tY �/�R��  

 10
0 10

XPDM

XP PP
−

×= (78)  
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 ��vMXPD (dB)  ~������ ���3 *3XPD  C�R� »U�m���� ���#�� 
 �,(BER) :������� �"���� O�,R� _2�� !R:���  

 

⎪
⎩

⎪
⎨

⎧

+−

−
=

XPICwith

XPICwithout

0

0

XPIF
I

C
C

I

C
C

M
XPD

 (79)  

��v C0 

/I  ���#�� 
 �,	 C�R� H	����� tY �+��q� �:*�� �#�' !3(BER)  �? 6�@���� 9�*J �=���5� Gm� %��� !R:��
.���5���  

XPIF  o0�5��� e�,5�J(�� C~R�� 
 ���T�� !,R$ _2�� o0�5��� e�,5�J(� l�7�� Q�I�� 
 {�5�� H��R�� *3(XPI) 
) �E�@ ��5� �`$�� 9�8*`�� tY �+��q� �:*�� w�' ���dB 35 <6V�� ���#�� 
 �,	 C�R� ���� ((BER)  ��d'c� lR�

 o0�5��� e�,5�J(� H	��� !"+M 6~=·� )z �? 6~=·�(XPIC) !"+�+� ��,���� ���5��� .XPIC  !3dB 20 .<�#$�5�  

2.4   ������� 	
��
� �����
�XPD �!��"� ���� #$ %&�'
�  

1.2.4   3��4��� ���%�567XPD  8�*�6 01��2�  

 b�T�� ��
 S�rm�� �,�� V��XPD � ��J��5�� �? ��-#���� ����� � �LY� .i
*�� G� 6)"� �$*�� w�' 9���? 6�3�&�
#$�5� �$�5� �+� C*�q� Gm� ��)��� gR� �+� �+�T��  ��
 o$}*�� !XPD  !�@����� o$}*��� C�	 G� ���&�� )z

 e�,5�J(� �7�� �,�� w#�� l3*�+�(CPA) )�d'�  6�5T��(4.2 ��� �
�� �,J�*�:������� �(���v(� _�  

 dBlog)( CPAfVUXPD −= (80)  

 X���R�� <��*�� .+R�$�U �V ( f ) �M Z��#$�|��� ���+R��� ��)"��� G� V�R�   ZVV���� ZK�L 
f ��)�� tY �#����� ZGm�� .

   X���R�� X�23 w�� X? !J?� �? !5U? e�,5�J�� 6)"� P�T��� �$��} o� ��#�� �	:������� µ���� �,J�*� <��#$�5� <����v  

 U = U0 + 30 log  f (81) 

 

GHz3520for6,22)(

GHz208for8,12)( 19,0

≤<=

≤≤=

ffV

fffV
 (82) 

 G� Q@? l3*� ��5� �V�v �
�dB 15  �,J*�� ���
U0  G�dB 15 <�#$�5�  G� �V? �v o�dB 9 .��J��5�� Hm�  

 ��
 )"� H�$�U �V ( f )  ��
 l� ��T�� O�U X*m$ *� tYCPA  ���$ ����� ��(V _L )z !5UB�� !J?��� l��,5�J��
 �$�5� tYXPD ���
 4��I�J�� H�R���� h��$� .CPA  ��V�R�� .#,$ ����� _�/���� e�,5�J��(80).  

 ���/��vY .�#,� Gm��XPD  O#� �
�R�� �,J�*� �	� VV�� �+� lR� VV�� ��� �=��Y H�*��� ´ %�� H$*,�� W��� �+�
���:������� ��#$�|  

 GHz30,4for)/(log20 211212 ≤≤−= ffffXPDXPD (83) 

 ��vXPD1 �XPD2 �� ��
~������ �� XPD  %��( �}��� ��$ G$VV���� ��� i
*�� G� �=�T' �$*��� �#���� 9���? �f1 �f2.  

 l� �
�R�� ������XPD �CPA M ZH��*� 6�R��  !5#��� !/�*�� K�L 
XPD  ��V�R�� Q�R�� .��#��(� 
 2	-$ � _2��(82) 
 H��5� ����� �
V �r@? X*m�� .����*��� ��VV���� l� 6)#@ ��
��U ���v 
 �
V H
?XPD1 �XPD2  O�T' e�,5�J(�

.(!J?��� �? !5UB�)  
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2.2.4   '�(�)*�+ ,����� ��(9 ��(: ;��/7-
 ./���� 01��2� ���<=>  

 �����1 �$�\ : )��� �+� l3*���(dB) A0,01  9���? 1}��� ´ _2��%0,01  ��V�R�� G� i
*�� G�(34).  

 �����2 »U�m�� )��� �+� l3*��� �$�\ :(dB) Ap:  

 
)(

10
/)/( 0 VXPIFICU

pA
+−= (84) 

 �+� H�� ��vU  ��V�R�� G�(81) �V  ��V�R�� G�(82) Z(dB) C0 

/I  C�R�+� 6V��� H	����� tY �+��q� �:*�� �#�' !3
BER  X��� !R:����� !"+XPICZ �(dB) XPIF  C�R�+� o0�5��� e�,5�J(� l�\ H��� *3BER .!R:���  

 C��R�J� 4�� ���v 
}�=D� XPIC  �#`$0 = XPIF.  

 �����3:������� ���+R�� V�\ : 

 
[ ]

⎪⎩

⎪
⎨

⎧
≤=

otherwise40

40if12.0log26.23 01.0 mAA
m p (85)  

�  

 ( ) 2423.1617.12 mn −+−= (86)  

 ��
 X*m� X? wxn  G� W��� 
 �q����3−  tY0 .!"#�$  C��R�J� ��� ���	� �(�q� gR� 
 O'? �dv��
}�=D� XPIC  ��
 �+� C*�q� Gm�n  G� H5�3−��q� 123 
 .�  ��
 X? �dv�� lR�$p  G� H5� %��3−  _V-� E*J

 C�R� tYBER  G� H5$ P�,5'��5−10 × 1.  

 �����4:������� �"���� G� P�,5'(� C���v� V�� :  

 
)2(

10
−= n

XPRP (87) 

5  �������	 
��
�� ������� ������  

 ��:*�� !
�,' 
 ��#�� �	 �+� ���� 
 1*&�+� [�B� w#��� G�m$UHF �SHF  P���(� �+� VV���� V����� 

 .
���� *D� 
 ��)��� V�R� E��F 
 6��~�� �	�� �+��� ��+������ ��d'B� 
 *#�� G� �$��q� ���3 
 6V�$~�� _V-�

M 9�VB� l�\ tY�  C��R�J� X? )z .gT�� �
 �$���q� 9�8*`�� )��� X?�� ���*� �`$�R��B� 
 *#�� G� �$��7+ ��d'
 b�T�� w#�$ _2�� *3 VV��+� !/�5�'(� *#�� X�@ �LY <�$�p X*m$ G� ���
��� 6V*:.9�VB�  

)�� 6�� o#�� 6���n� X? b���U� �+� ��&�'(� 6��
 H�m&� ���R$ C�*vB� �dR� 
��� tY HJ��� G� �R�? �? ��H#5� !3� .
)�� G�`�� �
� *D� Q� ���#�� )��� G�`��<� ? ._*D� ���m'(� �?/� !8�B� ��mR'(� G� ���� ��U�8Y ��)�� 6�� �

��LY   <�$���� X*m$ V�m$ P���� O� <��: �	��� ���m�� 6���#� 6���Y H#5���� tY H��� tY _V-$ �
 }*���� l� H	��� ­�

 �,	  B� V�R��� kL*���� �23 Hr� 9�VB�� -#���� H/�J� H�R���� .���*+R�� S&@ �+=�� Hr� ��)"��� S+�u ���$ _2�� �R�

 Hr� ~�=|��� ����R� ��	 kL*¨ O#7�$ _2�� P���(� o$}*�� (W�	B� �R�B� l�� H�$ P�R� C�? l� s�~�� ���T��)
*��� Hm&��_  !���B� �,�� h�7�� ��,,u� �*,��(FEC) Z� .¾Y� �+� ���� ���U ­�� 
 �=R] Gm� ��0 6�� ¶��3

 !,�� P���(� 1*&� �? 4�d��� o�
*� C��R�J� ��J?(LAD) �� <�)r@ .*#�� G� �$��7+� 
���� ����� �?   �=��� 
 H�R��$
�	? ���*+R� l�� O��� ���$� Q�I�� 
 4�I��$ P�R&�� !/��� 6�@�� kL*¨ o�
*��� �+� ���R$ _2�� G� ���*+R� Hr� W

��? .�+�*�� ª/��	 G�� ��)��� V�R� ­��v   1*&��� �+� ���R$ _2�� �=��� 
LAD  )�� �+� 1*&��� o$}*� ��5$
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��  $*��� Hm&�� ª/��	 H�R���� _*$V���� ��,��� 
 G$VV�� ��� ±v�_ ¾Y Z�*,��.  ���R$ _2�� �=��� H�R��$ K�2@
� �$��7+� 
���� ����� �+� ��~�=|��� G� ���*+R� tY �U�8n�� 6��5� P�R&�� P���( ��/��vY ��R$}*� *#�� G

 1*&��� �+� ���R$ _2�� �=��� 
 H�R���� ��5���LAD� . %�� �5$�,�� !�*� �� 6�5T��1.5  !3 �+� ���R� %�� �5$�,��
.9�VB� 
 �,��� -#��+� o�
*���  

�*�� tY �/�R�� 1*&��� X? �5�R$ �v 
 H0�*�� w#�� l3*��� G� )rm� <�)��� H
? �+m&� !=U C�v _? �+�� O���Y Gm� H0
 .O��L� ��:*�� ������ ��
�,' 
 ­�� 1*&��� X? E��R�� G���+�$���� ���+ ��d'? 
 �3)��� X? )z ����T�� �$����

.X�� ¢v h8�� )z H�"&���  

1.5  (�)�*� � �������� 	
��
� (��+� �, (��-.
�  

 C�R�� X*@ C���v� O'? �+� ��3 P�,5'(� C���v� E�R$BER .���R� �#�� G� Q@?  

 �����1:G� <�
�,'� i
*�� �J*�� �+=� e��v :  

 ns
50

7.0

3.1

⎟
⎠

⎞
⎜
⎝

⎛=τ d
m

 (88) 

 ��vd  )��� C*0 *3(km).  

 �����2 6V�R�� ��)�� Q� ��&��� ��+R� w�\ :η  6*,�� Hr�2  6�5T�� G�1.4.  

 �����3:������� �"���� G� !/�5�'(� P�,5'(� C���v� w�� :  

 
⎟
⎟

⎠

⎞

⎜
⎜

⎝

⎛

τ
τ×+

τ
τ×η= −−

||
10

||
1015.2

,

2
20/

,

2
20/

MNr

mB

NM

Mr

mB

Ms
NMM WWP (89) 

:��v  

 Wx:   o�
*��� b��(GHz) 

 Bx:   o�
*��� .��(dB)  

  τr,x:  �	���� !R:��� (ns)  o� o�
*��� �+� C*�7+� H�R����x  %�� ���5�� !3�Y C����  o� *#	 �+�
 �VB� �*,��(M)  �VB� )z �*0 o� *#	 �?(NM).  

(Y �U*�$ � �LY�  {�5�� 4�d��� ��+R�Kn  ��V�R�� 
 !/�5�'(� P�,5'(� C���v� e��v Gm�(89) :������� �
�R�� C��R�J��  

 
2

2

)(152
T

KK.P
m

NM,nM,ns

τ+η= (90) 

:��v  

 T:   4�d��� 6��U(ns)  

  Kn,x:   o� {�5�� 4�d��� ��+R�x ��Y �+� C�� %��  �VB� �*,��(M)  �VB� )z �*,�� �?(NM) .*#I+�  

 ���*��� 4�5��ITU-R F.1093 .o�
*��� �+� C*�q� ��T�@ �T��*�� o�
*��� ���+R� S$��R�  
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6  ������ ����� �	 ������� ������ ���!�" #$�%� ���
&���  

 6����� ���*�� ����� ��� !"#�$ _?) <��#�' 9!,#�� ��VV��+� !/�5�'(� )z *#�� ��)���"�d���� *#��" �$�� tY �/�R�� (
 6V�R�� ��)�� Q� ��&�'(� tY �/�R�� P�JB� ��VV��+� !/�5�'(� *#��� Z��~q� S�TI�� 6�U*��� ����5��� G� V�� ¶��3�

 ��)����� 123 o�]�� <�#��z� .i
*�� {T' 
  Gm�� .o0�5��� e�,5�J(� ~��� b�T�� <�`$? ����5��� 123 {T' STf
( %�� ����5��� :�� l��U 
 �=T���� .P*���� w+,�� %�� ����5���� C�J�n� �? C�#5�J(� 
 <��*�� w+,��  

�M�  �$V���
� e�#JB X�m�n� ��
 P*���� w�� G�7��$ O'?�� ����5���� ���|�����J(� 
 <(�? �d�$  6V��*�� P*��

  6�5T��1.6 �(�q� 
 ¢v X�m�n� ��� ����R�J� !"#�$� P*���� ��d'�� <�`$? �
�� �� ����5���� ���|�����J(� 123� .

( %�� ��? .�"��� 6���8 Hr�  6�5T�� 
 �=�J��V V��U P*���� ����5�2.6.  

1.6  �����
�/� � ����  

�� 6V�R��� ��)��� G� �:���� *#�� ��)��� g�Tf E�� ����5� 6�� C��R�J� Gm�  l� 9�*J ���*+� K�L� P*��
:�r@? �? ������� ���|�����J(� W�vn ����5��� 123 9�T��J� 6����� G�7��$� .�=/��� �+� H�R�J k���? l� 4? ��/�
 k���?  

 ����
�
	���A:  TI��� !/�*�� X���
� .U� 4~q� �$�� Hr�) �$*: ����� G� �:���� �$�&�� �d��� *#�� ­��v G� S�
) Z�$*D� 6V�R��� ��)�����d'�  6�5T��3.2a(  

 ����
�
	���B:  ab�B� h,J �+� ��J�mR'� ­��v G� S�TI���  

 ����
�
	���C:   b�B� h,J �+� ��J�mR'(� l� s�~�� S��I��� g�Tf.�$*D� ��:*���  

1.1.6  ��
� 0�� �?���  

 ���5� <�'��v? K�L ���$�) )��� H�� V�V~$ ��° ��8�B� {$��`��� G� O� V�T��$ *� �+� ���*�� o
�*� �$�\ wx
"high-low"����J(� E��3B w�|��$ K�L XY LY (� ��|A  ��|�����J(� E��3? G� 9~D� 1��? 6�*@2��B  !"#�$� .<�`$?

��|�����J(�) b�B� h,J �+� ��J�mR'(� ��$*J g�Tf H:? G� {$��`��� w|v �5$�,� �5$�,�� 123 ��U�Y B a
�d'�  6�5T��2.1.6.�+��� ��5��� l�5$�,�� XY LY (  

�L� 6V*:*� k���B� �=�U X*m� %�� ���q� 
 )��� %$�> W�vY ��� !/�*�� P�T��� g�Tf Gm�� ����#��(� 9�T��J( K
 6�5T�� 
 6V��*�� ���Un� ���*5� ��5��� �,$�� �3�@L .#J %��2.2.2.  

2.1.6  @�A� B(C D�
 ��C���)*� ���<=> E��F  

 H
B� �+� �?) 6�r���� �$���� 6�$�� h,��� �+� ��J�mR'� ­��v G� S�TI��� Gm� ��v ���*�� w�@�� wx
 �$����� ��J�mR'(� HR: 6V�R��� ��)��� G� �:���� *#�� ­��v G� H�+5��� [������ .(�"�? 6�r��� ��J�mR'� 6�$�&��

 ��|�����J(�) ��3*&���� b�B� h,J �+�B �2�� .�	�� gR#��� �=`R� <�#��z �#��� b�"�� �2� 6V�R�� ����5� ¶��3� .(
(   V��J� .W�	B� ����5��� 6����� X�V �3�v? .�#,� !"#�$������� ���5T�� 
 ����5��� 123 �J��V:  

1.2.1.6  G���)*� �(�) HI6 �<=>  

 G� ���/�*�� w|v H:? G� )��� C*0 �+� 6V*:*�� ©�#�� �? C�#D� �? C���� G� 6V�T�J(� 
 ����5��� W�vY G�m�
C���� ��
� C*=���� ��/��� ��7,��� Hr�) ��J�mR'�� �$���� �r@B� ��7,���  �*,J� ��|�B� G� �$��R�� �$*����

 Hm&�� �d'� a©�#��8 �$*J gT	 6V�$} H:? G� ����#���� 6*�m� C�#D�� C���� X*m� X? E��d�� H`U? 
 G�7��$ .(
 )��� ���UY g�Tf ��� Q@? ��*=�� ��J�mR'(� ��7,��� w|v o#,��� Gm�� .�=7,J �+� k�R��� C�·�

)�d'�  6�5T��3.1.6.(  
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&��£ Hm8  

����� ��	
�� 
� ���� ����� ����� ����  

P.0530-08

d

h

  

H��R+� ���RT�� ��5�� G� W�� 
 K�L� wJ���� w|q� ./�� V�xY H:? G� ����R&�� 4~q� )�� ��J��V 9��:Y G�7��$ k 
 l� o5�(%99,9) ke ) "�$�>���" l�� (W�	? �V? �v ���
 �?)�d'�  6�5T��2.2.2 ��mR'� X*m$ X? tY 1�#�'(� !"#�$� .(

 H��R+� ��+RT�� �,J*��� �? �RT���� ��5+� <��/~: �? H��m��� <��*|� h,���k V�� w|q� )��� �/�*U gR� X? h8�*�� G�� .
 ��mR�� �:*� iR
� �LY w|q� ./�� C��R�J�� XY LY 6�*@2�� ./�*R�� ��� "H/�3 ���m'�" )��� i\ �r@? �? 6�v��

��@ .Q@? E��d�� 123 
 X*m$ 1*&���� b�B� h,J �+� 6V�R��� ��)��� G� �:���� *#�� C���v�  �+� ��q� !"#�$
�RT�� ��5�� 
 )��� ���UY )$�R� 6����� o� <(*#5� 6���#�� �:*�� k��R'� X*m$ X? H��R+� P�T��(� �+�+
 ��k  CV�R� %���

._���R�� X�V ���m'(� �(�v  

2.2.1.6  G���)*� �(�) J���)� ��C���)� 0K� B(C L7  

 ������ ��J�mR'(� X*m� ��° lU�,�� ��� �? )��� 
�0 �v? ��� !/�*�� P�T��� �$*�� �+� _*,�� W�	? �5$�0 �j

 ? ����~� b�? 
 �? C�#D� ��mR'(� O�U ­�� *� �+� 9��� �*U ��)��� ���v 
 )��� H�� �$*�� Gm�� .6�� H


 gÀTI�� !/�*�� G� ��mR'(� �,5' e�5�� .����#��� �? ��|�B�� 6*�m� <�8�? X*m� X? H`T$� 9��� �*U {��� Q�� �*U
.P*U��� !/�*�� G� �R#��  

mR'(� .0��� o
*� �$�\ �5$�0 V��� 6�5T�� 
 ��m��� ��3.2.1.6  G� ��*,��)1  tY3���U� .(  6)�5�� ��)���� .+R�$
 ��$ ��° l�/�*�� P�T��� �? !/�*�� P�T��� ����	� ��'�m�Y �$�\ H:? G� �=+��m� ���5��� C��R�J� G�7��$ �E�@ ��5�

.b�B� h,�� �$����� ��J�mR'(� G� �:���� ��`�� H	����� w��  

� 6�5T�� ��R�4.2.1.6 .b�B� h,�� _����� ��mR'(� 6�� ���
 �? e��v ./��0  
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3.2.1.6  M%��2� ��
��>�* 0N�A� ����:*�  

( ��° (C�J�n�� C�#5�J(�) l�/�*�� P�T��� �? �v�� !/�*3 P�T��� �$*�� 6)�5�� ��)��� ���v 
 <�'��v? Gm�  w#��
 h,��� �+� ��mR�� �:*� _? H��R+� ���RT�� ��5+� 9!��� 6���#�� �:*�� o� H5��$ <���8 <�	���k ��@ .)#@ Hm&�  Gm�

��@ Z��J�mR'(� �+�+
 b�B� h,J �+� ��J�mR'� ­��vY H:? G� !/�*�� ����T��� �$*��  6�5T�� 
 V�$2.2.1.6 .
���U� W�� �$�\� l���5��� .�#,� h��� %�� 6*,	 6*,�� �5$�0 !+$ :P*���� 6���8  

 �����1: #$�5��� P�T��(� w�� �� ��d'B�� �5+R��� ���Un� 6���
 C��R�J�� C�#5�J(�� C�J�n� !�/�*� !   P*��

   6�5T��1.2.2.2.  

 �����2 :_���� ��mR'� ­��v �=�U H���� .0���� �*U C�#5�J(�� C�J�n� !�/�*� P�T��� �+�? w��  �+� �R
�*���
 ��5�� �? C*=��� �? ��/��� �*,��� Hr� .0��� V*:� 6�$�&�� �$����� ��J�mR'(� w#J X*m$ �
� .1��*² �? )��� �	

( �
� .©�#�� �*,J �? 6�|&�� )z C��+� �7,���  {T' �� �
� <��5U? 6���`��� .0���� 123 
 ��mR'(� h,J X*m$
T+�u .0��M )���) 6�� ��d'�  �dv���1���U wx �,$��� tY <�V���J� .0���� gR� �$�\ Gm�? �LY� .(  W�	? .0��M .+R�$

.6���#� 1��*² �? )��� C*0 �+� {$��`�+� �5�
V �J��V  

 Hm&�� �d'�) ������� �
�R�� !,R��9 l��T��(� (h1 

�h2  H�� �$��~� ��mR'� �5,�� �*U l�/�*�ν )�d'� � �dv��1:(  

 h1 = h1G + y1 − y0 + x0 × 103 × tan ν                m (91) 

 h2 = h2G + y2 – y0 – (d − x0) × 103 × tan ν        m (92)  

:��v  

  y1Z y2:   lR
*�� 
 �7#�� h,J G� b�B� P�T���1 �2Z  [�*��� �+�(m)  

  h1GZ h2G:   lR
*�� 
 b�B� h,J G� l�/�*�� P�T���1 �2Z  [�*��� �+�(m)  

  y0:   �7#�� h,J G� ��mR'(� �5,�� �$~@��� �,5��� P�T���(m)  

  x0:   o
*��� ��mR'(� �5,�� �$~@��� �,5��� l� �U����(km) 1. 

]���� ��)"��� 6����� G�7��$ �7#�� �*U ��mR'(� �5,�� V*:� C�v 
�.�~D�� ��� G� �  
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&��£ Hm9  

����� ��!"# $�"�%& ' (�)�  

P.0530-09
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 �����3 : X��U���� w�\d1 

�d2  lR
*��� Gmº {@�� h,J H@ l�1 �2 )�d'�  �dv���2 ��5�� W�� 
 K�L� (
 H��R+� ���RT��k  l� 6�*���(%99,9) ke ) �$�>�����d'�  6�5T��2.2.2��? a  ���
 ����	� X�m�n�#U !+�R�� ��R��� �+�

 Hr� 6)#@k = 1,0 × 910:( 

 d1 = d (1 + b) / 2          km (93)  

 d2 = d (1 – b) / 2          km (94)  
:��v  

 
( ) ⎥
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⎦

⎤

⎢
⎢

⎣

⎡

⎟
⎟

⎠
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⎜

⎝

⎛

+
+π+=

3
1

3

2

3
cosrca

3

1

3
cos

3

1
2

m

mc

m

m
b (95) 

 
3

21

2

10
)(4

×
+

=
hha

d
m

e

 (96) 

 c = (h1 – h2) / (h1 + h2) (97)  

 o�ae = ka  H��� tY �#����� b�c� »U�m�� �,5�� S�' *3�k ) lR�a = 6 375 km  a(b�c� »U�m�� �,5�� S�'
 ��V�R�� 
�(96)  G� QR$d  G�� �����*+�m���h1 �h2 .����B��  

? l�/�*�� �v? P�T��� �$*��� _����� ��mR'(� .0��� w�� Gm�? �LY ���Un� ���*
 6����� o� ��=�+@ P�T��� �
6*,��) 1 6*,��� �$�: G� 9�#�� ¦ H³	��� H$�R��� �$�5� ��$ (2.  

 �
��

��
�
�

(m
)

 

������(km)
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 �����4: ��? ( %�� �$����� ��@�R�� �*,��� tY �#����� �=#�� Gm�Z  �?) l�:*�� l� )��� C*0 ��U w��
� ���RT�� ��5�� W�� {T' 
 (�:*�� C�*0�� �=�� <�QR�) 6���#�� )z� 6���#�� ("l��R&��"  k:  

 
3

2
2

2

2
1

1 10
74.1274.123.0

2
τ

−×
⎥
⎥
⎦

⎤

⎢
⎢
⎣

⎡
−

⎥
⎥
⎦

⎤

⎢
⎢
⎣

⎡
−=

k

d
h

k

d
h

d

f
 (98) 

 �:*�� C�*0? V�� �=�U X*m$ 6�� H@ 
�τ  )"�� ����� <�#:*� <�7�7� <�V��k )1 Z2�n� X;U Z(¾Y Z �� �+#5���� 6��

  C�*0c� �7�7��� ��5�� V�� V�V}� ��+@� .X�m�n� ��
 O$V�T� w:*�$ _2�� ��B� Z�VB� �q�τmax – τmin  �����

 )"��k �º 9�VB� ���*' tY 69�Jn� C���v� V�V}� ��+@ �3��� 
 .P*���� gR� !`�5$  

 X*m$ �����τmax – τmin > 1  )"� ���k ���U Gm� .�@-� O#� *� �+� P*���� w�� Gm� Ze*+,�� W��� 
   .+R�$
 ��*0 }��|�$ ��)�Mkm 7,5 <�#$�5�Z  e��v �5$�0 .�#,� !3 �$���8 )z P*����� �$��q� X? G� �@��+� �5$�0 H`U? X;U

 6V�R��� ��)��� �+� *#�� ­��v 
 6�5T��3.2  ����� )z ���
��� ��d'B� 
 ����,5'(�� -#���� �5$�0� 
 6�5T��1.5 .
 O�U X*m$ *� �+� ��=�+@ P�T��� �? l�/�*�� �v? P�T��� �$*�� �(�q� o�] 
 wx�τ ≈ 0,5  ���5�� tY �#�����

k  .�,J*���  

 X*m$ �����τmax – τmin ≤ 1 � ��)��� G� �:���� *#�� .�� h#�$ P*���� 6���8 C���v�� b�B� h,J �+� 6V�R��
) 6���n� ��mR'� 6�&� l,#����d'�  l��5T��2.2.1.6 �3.2.1.6 �U�R�� (��  �+� _*�� ���@ �? l�/�*�� �v? X�@ �LY

) b�B� h,J ��J�mR'� tY �#����� �E�@ ~����d'�  6�5T��5.2.1.6 ��)��� C�v 
 O'? �@2��� !"#�$� .( Hm&� �+$*,��
(� k��� H��*� ��L 6L�&�� ��5#,�� X;U �E�@ ��~q� �$�� G� <�]�' 6���#�� �:*�+� <�*#	 w#�� �
 <��: �#����� ���m'

 .b�B� 1���� �&��� 6���#�� �:*�� �
�0 XY LY i
*�� {T' 
 }~R�� �
 h,��� �+� ��mR��� ��:*�� �? �:*�� X?�
 �$�7�� �5$�0 H`U?� 6V�R��� ��)��� �+� *#�� ­��v e��v �5$�0 .�#,� !3 P*����� �$��q� gR� 6���8


 6�5T�� 3.2  ����� )z ���
��� ��d'B� 
 ����,5'(�� -#���� �5$�0 K�2@� 
 6�5T��1.5.  

������ �1 � 	
  ���
� ���� ���� ���� �
���� ���� ��! "�#��$ �!	�$ 	%#�& �'�( )�� *	+	�(�,� -$ �#�+ ./ 0#��� *����� �12 �3
�4�5�� 5%��� ��$ ��6�7� 8�09�� �4�9
� ��: ��0��& ;	4��� ;5�9�6 .���� =
+ �
&	9�� >	9#�� ?& V  @�9�� �A$)m 10 ±  *	+C#�� �&	9��

.���� �	��+� >	9D ?& @E	9�� ��4
� 5�#�	& FG! H�5I/ H	J��,� K�� -1L6 .(���9�� N5O P �1Q�� *	+	�(��  

R!6 ���� SCO =
+ TI�5��� UG#$ @V� -�G��� "@E�$ �W X���9( 60Y� 63 Z	��D,� ��
� ���� �12 	%�! �C1� )�� *,	[� \�& P6 
59��� P 8]��C�� *	4�
���� 81.4.2.1.6  ^	1�D,� ��9D _C! *	+	�(�,� �V��] �I3 -$ UG#�� �`a =
+ b0c ^	1�D,� �3 ��5�!�6

 859��� P6 859��� d`a P e$0� )�� *�C�f� FG! ��	[� d`a P ��Y#�6 .��9#�� d`a P *	!	���61.4.2.1.6 .�	�$  

������ �2 � [� \�& P -�G���4�� g]3 �C1( �3 *,	� ��	�! �  k  -$ ��3(%99,9) ke.  

4.2.1.6  	����
� O�(��C*� ����:�  

���U !5UB� e�,5�J(� G� <(�� ���R��� e�,5�J(� ����	� G�7��$  G� �+�? ��VV��� 9��� �*U ��)���� .+R�$GHz 3 
 G� �$~� %�� ������ �$��} .5\ X? o
*�$� .<�#$�5�º0,7  G� h,��� ��mR'� 
 <�8�T�� <�#$�5�2  tYdB 17  tY �#�'

.!5UB� e�,5�J(� O55� _2�� g�TI���  

 e��q� .$�0 G� _����� ��mR'(� 
 H	���� b�B� h,�� C�RT�� ��mR'(� H��R� �V? �$�5� �+� C*�q� Gm��
�? ��@ ���5�� .�5v��� ���5T�� 
 l#� *3  
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1.4.2.1.6 � O��6@�A� B(C D�
 J����� G���)*� 0���  

) ������� 6*,	 6*,�� �5$�0 P�#��� b�B� h,J �+� C�RT�� ��mR'(� H��R� e��v Gm��d'�  �dv���1.(  

 �����1 : Zb�B� h,�� �#@��� ��v����� w�\η:b�B� h,J �+� ��mR'(� .0��� e�
 Z  

 η = εr − j18σ/f (99) 

 ��vεr ��v����� *3 � ��#����σ n� �����$(S/m) ��5�� ��5�� .εr �σ  ���*��� 
 6V��*�� ���*+R�� tY <�V���J�ITU-R P.527.  

 �����2 : Z������ �$��} w�\φ H��R+� ���RT�� ��5�� W�� Zk  6*,�� G� ������3  6�5T�� 
 6V��*�� �5$�,�� G�3.2.1.6:  

 [ ])( 221
11 bm

d

hh +−+=ϕ (100) 

 �����3 : Zh,��� ��mR'� H��R� w��ρ ��
 W�� {T�� Zk:  

 
C

C

+ϕ
−ϕ=ρ

sin

sin
 (101) 

:��v  

  ϕ−η= 2
cosC      !5UB� e�,5�J�� (102)  

 
2

2
cos

η
ϕ−η=C      ���R��� e�,5�J�� (103) 

 �����4 : Z���#��� H��� w��D:b�B� h,�� Z  

 
)31(1

)1(1

2

2

bm

bm
D

−+
+−= (104) 

 �����5 : ZC*,�� w��L1:)��� C�*0 b�B� h,J �+� t�B� H�$�U �5,�� !|+�+3n� ��|�+� Z  

 km
3

10)(
1

3

104
1

1
22

21
2

21
1

−−−

⎥
⎥
⎦

⎤

⎢
⎢
⎣

⎡ ×++×+=
d

hhf

d

hhf
dL (105) 

 b�R�� K�2@�W1 :!8�R�� 1��(� w�v  

 km
103

4

1
f

d
W

−×= (106) 

 G� QR$ ��vh1 �h2  G�� ����B��d b��T$� .�����*+�m���  ��·� X?$�U �5,�� !|+�+3n� �,5' �+� ~@�º t�B� H�
) h8�� ��mR'� h,�� ��J���� ��mR'(��d'�  �dv���2.(  
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 �����6 : C*,�� �$�5� ��$ <�$���� <�J�mR'� ­�� t�B� H�$�U �5,�� !|+�+3n� ��·� G� <��v�� <�9~: X? h`�$ �����
Δx (km)  _����� ��mR'(� H��� K�L �R� ��5$� .9~D� �2�)�d'�  �dv���2:(  

 
3

21

224
21

3

10)()(

dhh

xhhf
R
s

−×Δ+= (107) 

 G� QR$ ��vh1 �h2  G�� ����B�� <�`$? ��3d  X? b��T$� .�����*+�m���Rs = 1 .w�"����  

 �����7 :!|+�+3n� ��|�+� !+	���� h,��� X�@ �LY  4�� H��� ��5$ 9!&�� gR� 4�d�'(� H�+
 t�B� H�$�U �5,��
 h,��� 4�d�'�Rr :[����@  

 
222

2

)2/(2)2/(35,21

)2/(1

gg

g
R
r

π++

+
= (108) 

:��v  

 
3

sin40 ϕσπ= hf
g (109)  

o�  X�� �+R��σh (m)  ��·� H	�V o
�*�� )��� G� 9~D� 
 o:����� s7�� tY �#�' h,��� P�T��( _���R�� E���(� *3
) t�B� H�$�U �5,�� !|+�+3n��d'�  �dv���3 X? b��T$� .(Rr = 1 .w�"����  

 �����8 : H��R+� ���RT�� ��5+� e*+,�� W��+� C�RT�� ���m'(� H��R� w��k:  

 
rs

RRDeff ρ=ρ (110)  

 6�5T�� 
 6V��*�� ���5��� tY <�V���J� K�L� 6���#�� �:*�� tY �#�' ��mR��� ��:*�� �? �:*�� �$*J �$�5� K�L �R� Gm��5.2.1.6.  

������ �1  �  	
��� 
� ��� ���� ��������� ����) ����� ���!�� 
� ���
�� " #$!%� &�
'�� (�*
�+� ,��
� -./� ���01 2%3 &4�5�
 .7�.��� 8�!9%� 	����� :�;<�� ,��
�� 	�!�� ... => ?#$!�� @����� @�3 ?#$!�� �.����> ,A� �'%�B ����.1C� 	�!� D�E� (�
'1���

+> �+�5� GHI " 8�!5� �0��J K!.��  �� �!� C�.��+� �� ,L�<�� M
� �N�41 O�� ���!�� 2%3 P�
��� #.�� 7�.���01 7�.��   �!� 
� 7+��
�� &�Q> @�3 	N41 R� ��S   T��3 �U�
�� -J�V�� " ��JC WC� W���X� WCY� #$Z 2%3 C�!*�+� [> ��!V��� 
!9�!�� .T�\�X 
� G�!.1

X ]��� O�� ����'�� " ��4J�%�.4�^� �_.  

������ �2 �  ����
�� :$
1(107) + ���V3 `�� a\���  ,b'� �/� .c�S��� (�*
�+� �$0� 
3 7��.
� c�S��� (�*
�+� �0$V� P�'L d4*�
"  #$Z e.f O�� �
'1��� ����e�� 	�!�) g4U4� hL�3 �i� 7���� j��V� �i keN [> [�Y� ,V��X �0$V� j.!01 �+�5� M
� WCY�
��  @�3 ,��3 �.X 	!l 7�.\eN hL�3 m������ @����+� @�3 
� ,/� �NC� 2%3 ��S keN� (�.UCY� h�C�b��� 	�!� 	n5� �op1 	�!�

 T4$;%� 7�0X� #$!�� @�����7 .G�3� TC4LH��  

Y� ,V��X �0$V� :$q1 WCY� #$Z 
� �!L�
�� �0$V�� d� [> @�3r� ,.�Z 2%3 TC�sr� C�t �N4�� u�!1� d�� �!�� &4J 2%3 7���f [�
 C��0v 2%3� �!*
V��dB 2,6  �3����� ,��3 ���op1 T�3��� d��) T�s���� �N4�� u�!1� 
�D  T�0'�� " �Z�C��� u4U4� :\�4w� e..f ��

5.2.1.6 �x.0�� GHI y%�1 �/� .(dB 6  ,V��X �0$V� 7���f :$q1 �!L�
�� �0$V�� K��L �E> �I�
� " ,� m4$�� �I�
� " z0X h.� [�Y�
 {��n�� 
� �!*
V�� �N4�� u�!1� d|X �!L�
�� �0$V�� " �.Z�Vw� (�*
�+� �$0� R01 } �E> ,��0���� .7�b�� :U�
��dB 3,4– K
/� d>� .

 
� ,/� d4*� �!*
V�� �N4x%� ~!V�� u�!1+� d|X 7���f [�Y� ,V��X �0$V� �C���dB 11,5.  

������ �3  �  :[�Y� ,V��X �0$V� &4J 7���f &��
1 �X�!� �!�� &4J 2%3 RN����� �9V� jZC �!�� WC� #$Z @����� @�3 &�� " ,b'� �/
��3�'1C�� cC�.
�� P���+� 8�!� � (�*
�+� �$0� R/4� ���9�� (�ZpL ,x
�!� jZ��� �HI�  σh  (m)  .�9V�� �HI &4� 7����� [>

d�  j��V� #$!�� d� W��'� k��� `4X [�Y� ,V��X �0$V� K��L �E>� .��C��*1 �.%x
�� d4*1 �/ &4_� [�Y� ,V��X �0$V� �m�Y� R/4��.  
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2.4.2.1.6  B(��� D�
 J����� G���)*� 0���� G��K  

) �$V�R�� ��&�'(� ���� 
 Gm��d'�  6�5T��8  �dv��� K�2@� ��=��� 9���? �dq H`U�� �5+R���1 ��mR'(� H��R� ���
 (
 !/�*�� P�T��� �,u V���;� {@�R�� h,��� �+� C�RT���  P�T��� �$*�� ��� �+#5���� 6���n� �$*�� .+R��� !/�*�� w�@

I�� ��
 ���� O8�� !Tm$ ��VV�� W�� 
 C�#5�J(� !/�*3 �? C�J�n� !/�*3 X�@ �LY� .9�*J �v �+� ��+R��� ��'��� �,
(dB) ΔE  Hm&�� �d'�) ��+R��� ��'��� l�$*��� l� ��T�� *310:������� ��V�R��� C�RT�� ��mR'(� H��R� �,R$ (  

 
110

102110

10/

20/ /10

−
×−+=ρ Δ

ΔΔ

E

 E E

eff (111) 

������ �1 � �� 7�X�'N �AL� C�<���� ����
�� ���<�� �_.X R/4�� O�� ��C�_V�� T��'�� k�Vo� WCY� #$Z d4*� �/  ��C�_V�� T��'�� k�Vo� �.%3 4I
 T�0'�� �+��
� 2%3 �V�!� #.9�1 k��N> 
!9�!� m������ .T��
��� ���!��� C�<��+� �I�4� �_.X R/4�1 O��1.4.2.1.6 �� `��'�� [>� �X��


+� .P�'�� �� ��4J��� ���s " WCY� �.����r  d�1�0'�� @�011.4.2.1.6 �2.4.2.1.6 +> .����� �H� �.���> ��x.%
1  

&��£ Hm10  

 ����(dB) ΔE ���	
� ���
�� ��� ���� ��� - ���	
� ���  

P.0530-10
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5.2.1.6  M%��2� 3��P J�4��C�  

 �LY ��mR��� ��:*�� �? �:*��� 6���#�� �:*�� l� �$��~�� h#�� Z)#@ !R�#0 ���UY �? �E�@ H�� ��L ��)��� i'�@
�E�@ ��5� 6)#@ b�B� h,J �+�  �:*�� ~��� H:? G� l�/�*�� �? !/�*�� P�R�n !:L*���� �,I�� G� 6V�T�J��

�? 3 �U*�� � �LY ¢v� .��mR��� ��:*�� l�/�*�� �? !/�*�� ����Y ��T�� G� X*m$ �
 Zb�B� {$��`�� �,#���� ���T�� 12
���U� .6������ ~������ 6��
 6V�$} H:? G� �+�B� *� <��+
  :b�"�� �2� �#J���� 6*,N 6*,	 �5$�,�� !+$  

 �����1�B� h,J �+� ��mR��� ��:*��� 6���#�� �:*�� l� �$��~�� w�\ : lR
*�� 
 b1 �2  G� e*+,�� W��+�
 ���RT�� ��5��k  6*,�� G� ������3  6�5T�� G�4.2.1.6:[���� *7��� �+� K�L� Z  

 �:�V     
3221

1

1
1 10

74,12

180 −×⎥
⎦

⎤
⎢
⎣

⎡
−−−

π
=α

k

d

d

hh

d

h
 (112)  

     �:�V 
3112

2

2
2 10

74,12

180 −×⎥
⎦

⎤
⎢
⎣

⎡
−−−

π
=α

k

d

d

hh

d

h
 (113)  

 �����2��mR��� (�����n� �?) 6���n� 
 H��q� l3*��� �$�5� :  ������� 6���#�� 6���n� tY <�#�' b�B� h,J �+�
) !/�*�� ~��� G��d'�  �dv���1:(  

 dB12

2

2

2

2

1

1

⎥
⎥

⎦

⎤

⎢
⎢

⎣

⎡

⎟⎟
⎠

⎞
⎜⎜
⎝

⎛

α
α+⎟⎟

⎠

⎞
⎜⎜
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a
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 ��vαa1 

�αa2 l�/�*�� 
 ��~7+� 6��5�� S�' ��7�U ��.  

 6��5�� S�' �7�U 
 b�B� h,J �+� ��mR��� ��:*�� �? �:*�� �$��} �? �$��} iR
� �LY� l�/�*�� �v? ��~q
�?  !/�*3 ~��� C�	VY H:? G� ��~q� b�� S�' ���5M �+�B� *� l��R�� l�/�*�� �? !/�*�� ����Y G�7��$ Z��=�+@

) 
�8Y�d'� �dv��� 2 �7�U S�' G� <��+
 �:��	 b�B� h,J �+� ��mR��� �:*�� V��� �$��} i'�@ �LY ¢v� .(
m$ �5U !/�*�� ��~v) �+�B� *� <��+
 !/�*�� ����;� 4��5�� e*����� G� X*�d'�  �dv���2 .( l3*��� �$�5� 2/��� Gm��

) !/�*�� ~��� G� �:���� [�]n��d'�  �dv���1:(  
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α
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a
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a
L (115)  

 ��vαt1 �αt2 

.�+�B� *� ��=����Y ��: G$2+�� l�/�*�� ��$��} ��  

 �����3 H:? G� h,��� �+� C�RT�� ��mR'(� H��R� ���
 �? �$�5� ��)��� gR� tY �#����� ��T�� G� X*m$ �
 :
 b�"�� �2� H�R���� .��&�'�� �$V�R�� ���&�� 
 h,��� �+� ��J�mR'(� �? ��mR'(� �$*�� [�]Y �$�5� �+� C*�q�

 6�5T�� 
 6V��*�� ���*+R��4.2.1.62/��� QR$� .  b�B� h,J �+� ��mR��� ��:*�� �? �:*�� �$*�� !+m�� l3*��� G�
��V�R��� :�������  

 dBlog20 effρ−=
as

LL (116)  
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 ��vLa  ��V�R�� G� ����(114)  �?(115) h,��� �+� C�RT�� ��mR'(� H��R� ~$~R� Gm� O'? tY <��d'� .���7+� <�5U� Z

  E�� ��0n� �+� 1�$�5� �? 6)#@ �
�� 1�$�5� _���`�� )z G�U b�B� h,J �+� 6V�R��� ��)��� �(�v

) C�J�n�� C�#5�J(� !�/�*� �+�B� *� H��� �$��} e��v�d'�  6*,��5.(  

 �����4: �n� �$*J 
 l3*��� X;U Z�+�B� *� <�/�� ���@ �? l�/�*�� �v? X�@ �LY �$V�R�� ���&�� 
 6���#�� 6��
) ��&�'��k =  4/3) ������� ��V�R��� �,R$ (�d'�  �dv���1:(  
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α+⎟⎟

⎠

⎞
⎜⎜
⎝

⎛

α
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t
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 �$�5� Gm��Ld (k) ) [���� *7��� �+� _���R�� X�V ��mR'(� �? �$�&�� ��mR'(� ���� 
�d'�  �dv���1:(  
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⎢
⎢
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α
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⎠

⎞
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⎝

⎛

α
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a

dt

a

dt
d kL (118)  

) ������� ��V�R��� <��#$�5� �,R� 6���#�� 6���®� V��*�� �$��} X�� �+R�� o��d'�  �dv���2:(  

 �:�V⎟
⎠

⎞
⎜
⎝

⎛ −−=α
4

31
0045,0

k
dd (119)  

 �����5 :) �$V�R�� ��&�'(� ���� 
 Gm��� Q@B� *#�� .�� e��v Gm�k = 4/3 6���n� l� ��`�� H	����� �R� (
 �? 6���#��:[���� *7��� �+� b�B� h,J �+� ��mR��� �����n�  

 ( ) dB1010log20
20/20/ sd LL

maxA
−− −−= (120)  

 �,R� ��vLd  ��V�R�� 
(117) �LS  ��V�R�� 
(116) )�d'�  �dv���2? .(��   X�V ���m'(�� _���R�� �*U ���m'(� �(�v 

 �3��
 ��U�8Y 6���	 6���#�� 6���n� �5+�� ��v _���R��0,5Ladd  (_���R�� �*U ���m'(� �(�v 
 ��~q� �$�� G� �]�')

 1��
 <�#�@ h,��� �+� ��mR��� 6���n��–0,5Ladd:������� ��V�R��� �,R$ Gmº *#	 .�� ��
? X;U Z  

 ( ) dB1010log20
20/)5,0(20/)5,0( addsaddd LLLL

maxA
−−+− −−= (121) 

 ��vLd  ��V�R�� G� ����(118) �Ls 

 ��V�R�� G�(116) )�d'�  �dv���2.(  

 b�B� h,J �+� 6V�R��� ��)��� G� �:���� *#�� G� X�m�n� ��
 g�TI��� E�� l�/�*�� H�� �$��} C�r��J� Gm��
�?  tY !����� C�r��J(� .�5\ Gm�� .<�R� l��3�d�� l��3 �? b�B� h,J �+� 6V�R��� ��)��� G� �:���� P���(� 1*&�

mº �v �R�? tY *#�� g�Tf ���5�� 9�,�;� ZGLadd  ��V�R�� 
(121)  �=�U h#�� ���
Ld 

 G� H
?Ls 

 [�*°dB 0,3  �����
k =  ∞  <��: 6)#@ ���
 ����	� !+�R�� ��R��� �+� ��$�)� k  Hr�k = 1 × 910 g�TI��� Z(Amax  Gmº �v �R�? tY

#$�� ����	� �,J�*�  9�,�Y Gm� H��5���� .H��� �$��~� !ρeff   ��V�R�� 
(116)  G� �+�? �? �#$�
 ���
1,0  {T' ���$ ��°
 µ��#�� ��T��dB 0,3 )�d'�  �dv���2���
 �=�U X*m� %�� ���q� _V�T� ��$ �2�� .C�r��J(� ��+�R� 9�#�� H#
 ( ρeff  .��*=p

 l� �����$ ���5M *#�� G� �$��q� ���3 ª�+5� �5$�,�� 123 G� �|�$�2,5 �dB 4.  

 H�$ X? tY H��� �$��} 6V�$} .$�0 G� �+r� �5$�,� h,��� 
 6V�R��� ��)��� G� ������ P���(� 1*&� g�Tf .�5\ Gm��
 l� ~������ ��U H�$ ����� K�L ­��� .��
B� 1�v tY b�B� h,J �+� ��mR��� ��:*�� �? �:*�+� !/�*�� ~���

:*�� �? �:*��� 6���#�� �:*�� G� H��q� 1*&�+� <�R#� �
�� H��� �$��} C�r��J� H:? G� O'? )z .��
B� 1�v ��mR��� ��
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 ��V�R�� XY LY !/�*=+� ��:L*���� ��,,I�� )U*� wx Zb�B� h,J �+� 6V�R��� ��)���(115)  kL*¨ k��	 �
V H
?
�� V��v G� e���
(� o� ���	� !/�*�� ��~q 6��5�� S�' %7�U) !��/��� ªT�d'�  �dv���1�M� .(  r��J� X? 1*&� C�

 {T�� *#�� C�r��J� G� ������ H��� �$��} 6V�$~� ��*$ �d���� *#�� G� �$��q� ���� 
�8Y g�Tf H��5� .57�$ P���(�
 µ��#�� *#�� G� �$��q� ���3 g�Tf G� �+�? �v tY H�*��� Gm� X? tY �#����dB 6 <�#$�5� H��� �$��} X? G� �z����� .

( *#�� .�� 6V�$} X;U O��L �° *#I+� H
? <(�r��J� CV�R� ������  (Y CV�R�   G� <�9~:H#��$��� )�d'�  �dv���3.(  

 �+�B� *� l�/�*�� �? !/�*�� H�� G� ������� b�B� h,J �+� 6V�R��� ��)��+� Hr�B� ~������ X? tY 6���n� ���
$) *D� 
 6V�R��� ��)���� .+R��� ~������ 6V�$} �+� <�`$? H�R�d'�  �dv���4.(  

������ �1 � 	
� .�
���� �
�� ���� � ��� ���� ������� �
���� �!�"��� �#$ %�&!  '	(()�� *	+,��� -&+�� �!/���� 0#$ 12	3
4�� �!5"6 7�8 *�9:� ;<� -
 �
��=�� ���,>�� ��<?�+@�� .�A�
��� B>�� �/5� -
 C����D� 5@8 ��EF� G�	H I�?/ JK	L��D� �A�  

������ �2 � � M�5,��� '�NA�� -8 O<	@�� �PQ� � K��F� ��8�R SA��� TH C�U�
 �
� 7�8F� �V '	�
���� ��	
W  XR	� 	+=
 Y2F�
 ;�
) �!�	,�� 2	[�RD� \/�] � Y2F� ^(� 7�8 �A&,@�� '	<��� /� �<��� �!��4/3 = k( �$ -&_ 25� 5,H� `W �PQ� a�>b c5$/ .

 2�5"d MN3F� �!�A�� 0#$ a�>b e
 M�]	P�� �<��� �!�� -
 ���� Y2F� ^(� 7�8 �A&,@�� '	<��� /� �<��� �!�� a�>b f"� �>&!
 /� �<��� g	A6�/ M�]	P�� �<��� g	A6� SH hA@�� 4�>�� ;,< �$ g	A6D� 0�[6 -
 ;�
F� a�>)��� c5$/ .��&�� �PQ� i+8 a>Q
 �/2/ 	!�/j ;!5,�H S�	�+��D� -!#$ i�"k %	&
l	H/ .�PQ� i+,� 79�F� 5��� �>�>m M�	!j ;H	"
 Y2F� ^(� 7�8 �A&,@�� '	<���

��/� �<�  M2/�L�� 5@8 -&n/ .o	8	>62� ;�� o	H�A� ;�p �
��=�� �<?�+@�� f()�� 7�8 o	m	"R ;H	"6 q�r Y2F� ^(� 7�8 �A&,@�� '	<���
 O<	@�� M�]	P�� �<��� 0	s	H �
���� ���p S$�6 eP�! t#�� �!�	,�� \/�[�� � O��@�� �PQ� -
 �!	+:� u
	$ S$�6 -8 a!�,���-8  ��	
W

.'	�
���� Ov� M�	!�H I�?/ 7�8F� �V �
����  

 �
�� ����/ NA�� ;&] ��5@$ 7�8 �!�	,�� 2	[�RD� \/�] � Y2F� ^(� '	�	&,R� Nwx6 a�>b ^��6 y�� �
���� ;�
 	!�/j z���6/
���� ;��� �!/�j %� -
 OU��	H/ .Y2F� ^(� 7�8 '	�	&,R�� ��PA@�� �!�A��/ �
����� 	�	+,��� �<  M�	!�H ����6 �!�	,�� 2	[�RD� \/�]

.���>�� 0#$ '���j� 	+�� �
�:� ����/ ;��� �!/�j SH �!2/�L�� �PA@�� � %	9"R {��! �
�:� ����  

 -
 |�� Y2F� ^(� 7�8 M�5,��� '�NA�� \/�] � ^(A�� '	�	&,R� Nwx6 a�>b ^��6 y�� �
���� ;�
 	!�/j %�&6/ 	� ��H	"�� 	!�/���
� 	
 }�v+� ����m �"Pm �PA6 	
5@8/ .M�5,��� '�NA�� \/�] � 	!�/��� O�� 2	��3� M�	8 O�!/ ~�!�	,�� 2	[�RD� \/�]  o	�	R o	@�$�6 o��


 5!5p -8 �
�:�2F� ^(� 7�8 �A&,@�� '�2	]l� /� M2	]l� �!�,6 *	+��� %�� JM�]	P�� M2	]l� �!�� /�	_ X���� �>R � ����! Y  t��!
	+� .M�5,��� '�NA�� -8 O<	R 5!5] �P3 'D	� `W .2	[�RD� 0�[6 � o��	!�j� o	L!� {��!/  

 M�(Q� � M�2���� '	+��,��� �"H	(
 M	�	� K��<W -&n/5 � T@8 |,�� �PQ� i+8 ;�"6 y�� ;��� 	!�/j 2	��3� ;<� -
  ���	,��(121) � `W 5,H
 SH 4�>�� a�>b *	+��� %W) .-&_ 5�Ld /Ls  -
 ;�� `WdB 0,3 Nwx6 T� ��� J	+=��� /� S�+�"�� S6	$ }5�W ;!5,6 -8 ��@! �$/ J

S���	,�� � 	=@8 |,��/ Y2F� ^(� 7�8 �A&,@�� '	<��� 	!�/j N��� o	,P6 7���� ;��� 	!�/j N��6/ .(�v��@�� 7�8 �$	� h�� (112) /(113) .
	+� ����� ;��� 	!�/�� �(+@�� u
	�� a�>b 2�5"
 �/���!/ .Y2F� 7�8 �	&,R� 	!�/j |�� �
��=�� ;�
 	!�/j |�� ;H	"6/  SH o	"H	� ��?

2,5 /dB 4� 'D	:� e�� �/ . @! O��@�� �PQ� -
 �!	+:� u
	$ %	9"R -8 a!�,��� ;<� -
 '	�
���� Ov� M�	!j *	� ���+,H K5P�� ��P
.M5!5< 7��
 ;�
 	!�/j 5!5k ���H M5!5< *	�+���  

	+� ��P@!/  �>@H ;��� 	!�/j M�	!j/ -&_ 5� ;�� `W �PQ� a�>b ^��6 y�� M�(Q� g	A6D� 0�[�� ;�
F� a�>)��� ���+8 iPA6 %� o	"H	� �2/
 *	+,��� /� ;��� 	!�/j y8�+� }5�W *	+,��� fP6�!/ .�A@��) �	�@�	H �"�,�
 '�2	P�8	H S�8�+�� S6	$ -
 �f��3��R�  ������3.(  

8 �6	@�� (M�]	P�� �<��	H M�	8 ;�+�!/) }��F� g	,[�� 0	s	H �
���� ���p a�>b -
 K�< -8 a!�,��� O�! TR� `W M2	]l� ��P@!/ �
���� ;�
 -
 %� �PAH ^(A�� M�5,��� '�NA�� \/�[� ;H	"��/.�P<�
 �/2/ �!/�j o	
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������ �3  �  ;H	"
) -&_ 25� ;�� `W �PQ� i+,� ��F� 5:� a>)@! q�r T��
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���� Ov� M�	!j �@s �$ ;L�F� ;:� %W
 SH �/���! �PQ� -
 �!	+:� u
	$ %	9"R2,5 /dB 4	!�/j *	�+��� -8 ��R �?W ;H	"�	H .(  K��F� M��< � M�	!j 0�[��� g	A6� a�>b c5� ;���

@$/ .�	�@�� � ��+,�A�� �!�A��� ��8�R 7�8 K	L��D� �A� 2	��3D� z���!/ .;:� �#� ;�L>��� %�&! g�@��� `W K�v��� t�	>�� �>&6 ;� �	
� B"R `W t��! �
��=�� ;�
 	!�/j 2	��3� 7�8 t�(@! q�	w  � -
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F� a�>)��� %� ����
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�/2/ 	!�/j 2	��3� � 	�	m �#&$/ .}��F� �<��� o	
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 %� `W  -
 |��

 -
 ;��) �/2/ �!/�j |��°0,3  SH M2�9�� NA�� *��mF31 /km 51� ( o	
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|�� `W Y2F� ^(� 7�8 M�5,��� '�NA�	H 2	[�R�� ���	���� '�Nwx��� a�>b �	�� 7�8 7�8F� �V �
���� ��	
W *	�+��� ��"! %� 
5� .-&_  

3.1.6  ��
� Q���7 E��F  

 �? <�v*8� H
? W�	? �5$�0 �j -#���� Gm� ���@ C�	VY E�� )��� ���UY g�Tf �+� _*,�� W�	B� ./��,�� G� <��$�\
:�>B ���	 ���RU ���5��� 123 X? �5�R$� .H
B� �+� _���R�� X�V ���m'(� ���� 
 k��R'(� C�	 G� l3*��� G� ��  

�  2�� ��~q� �$�� G� �:���� l3*��� 6�� �?/� C���v� G� STf ��U�0 �5#0 w#�� 6���#�� �:*�� �+� ��-$ _
 ��|�����J(�) !+m�� )��� C*0 i\ <��/~: �? 6���#� o5� (W�·� Hr�)Aa(  

�   ��|�����J(�) h,��� ��J�mR'( �5#,�� 123 ~$~R� C���v� i
*�� {T' 
 STfB.(  

��mR'� o� 6��8 �5$�,� 6���#�� �:*�� o��� X? C���v� [������ .VV���� 
 <��/�5�'� <��$�� <�*#	 K�2� �##�� �r@? �? �v�� h,J  

 �##��� ��:*�� �? �:*��� 6���#�� �:*�� l� H��q� �	���� X? 
 �5$�,�� ����RT� V�5��(� �+� o|&$ _2�� w#��� G�m$�
�\ w#�� %�� ��U�,�� �5#,�� o5� � �LY H5$ b�B� h,J �+� ��mR���� H	���+�(Y 6���#�� �:*�� ��~v �$   )��� i\ <��/~:

 ��|�����J(�)C�º 6�� H
? VV��+� !/�5�'(� *#�� O�U X*m$ *� �+� .(  .)��� i\ �=+��m� �5#,�� 123 iR
� �LY  

�v ���5��� 123 w+,��� �=: G� h,��� �+� 6V�R��� ��)��� G� �:���� *#�� ��)��� g�Tf l� <��5U�*�  *#�� V�$V}��
 6V��*�� )��� ���UY 6���
 ���? �
� .W�	? �=: G� _���R�� X�V ���m'(� ���� 
 k��R'(�� l3*��� G� �:����


  6�5T��1.2.2.2  H��R+� ���RU ��,J� ���
 _?) �$V�R�� ���m'(� ���� 
 k��R'(�� l3*��� w�� E��k �v��Y o� (
 1��
 k��R'(�� l3*�dB 6  ���5+� �+��5�� ���&�� 
 <�#$�5�(%99,9) ke���U� .  ��U�m�� �$��q� ���*3 ��L ��d'B� ª«

��@ �$V�R�� ���&�� 
 k��R'(�� Q@? l3*� C*#
 <��/�#� Gm� Z�d���� *#�� G� ._���R�� X�V ���m'(� ���� 
  

�� ��L ��)��� tY �#����� ���B� �"��� ���5��� 123 ��L ��)��� tY �#����� <�`$? ��T�� G� O'? )z .4��R�� �? H�+5�� H�
.6V�R��� ��)��� ��)���� 
�8Y g�Tf H:? G� )��� ���UY g�Tf ���#�� H���  

 !/�5+� Hm&� ����R�J�� ��*$� ©�m�� E��	(�� �+�m&� 
 <���T��� H
B� !/�*�� �+� X��B� G� �$~M ���5��� 123 .#,�
 6�5T�� 
 6V��*�� �5$�,�� 
1.2.6.  

2.6  ������ �	
���  

 VV���� P*�� w�� !"#�$� .VV����� �$��~��� X�m�� 
 P*���� ����5��� 123 H�&� �$��~�� 
� X�m�� 
 P*���� �+� V����(��
 X��,R� l���5��� l��3 XB Gm�� �5$�,�� 123 
 Q@? ��VV���� S�0 C��R�J� ����RU XB �5U {�� Z��=��� o�D� �+� �?

H`U? �/��' <��*��. � 6���	 G� �:���� *#�� Hr�) �d���� *#�� ���p �+� ����$ ���	 ©�m�� P*����U G� ��~q� �$�
( ����� ZVV��+� !/�5�'(� *#�� K�2@� ()�
 ¸�' �	�� o� *D� 
 ��)��� V�R� (Y VV���� P*�� h��$  VV���� *#	 ���p

 Gm�? ��+@ VV���� P*�� w�� !"#�$ �2�� .(*D� 
 �?/� b�B� h,J �+� 6V�R�� ��)�� G� �:���� *#�� Hr�) !/�5�'(�
 H:? G� K�L.S�,�� �+� �dU��� ?��  C�	 G� K�2@ �$��~�� E��	� 4��I�J� w|�U Z©�m�� E��	(� C��R�J� ���

 %�� �(�q� 
 �$��~�� E��	� C��R�J� Gm�� .�+�B� tY �T+�u �$��} *� ���/�*�� ����Y(  E��	� C��R�J� �=�U Gm�
.k���B� P�T��� g�Tf H:? G� �? wJ��� ©�m�  

 ��d'B� 
 !Tm$� .4�d��� P*�� ��*�
 
 �����n� ����� 4�� W�M ����5��� 123 H@ �3�U*� %�� G�7��� �:�V .+R���
? .�v�� VV�� ��� *#�� .�� ���/��vY 
 G�7��� V�� X? ��,��� �5�8 ��+��������  Z��,��� �`$�� ���
��� ��d'B� 


���/��v;� P*���� G�\ <�`$? .+R��U .��,��� H	�V 1*&���  



�������  ITU-R  P.530-14  

  

42

 P*���� G�\ H��� E�R$I :[���� *7��� �+� *#�� .�� tY �#�����  

 I = p  ( A ) / pd ( A ) (122) 

 ��vpd (A)  G� Q@? *#�� .�� �=�U X*m$ %�� i
*�� G� �$*��� �#���� *3A  ����� Z�,+�I�� P*���� 6���Y 6��
 
p(A) 
 C�R� H:? G� }��|��� ��
�? �#��� ���
��� ��d'c� P*���� G�\ H��� E�R$� .!��� )z )��+� �+��5�� �$*��� �#���� *3

 ���#�� 
 �,I+� lR�(BER) � �? P*�� o�� .P*��  

1.2.6  R��
� ST�:*� �4U)� 8 ���%��2� �	
���  

 
 ���/�*�� l� ��/��� 6���#�� V�7��:!3 H��*� ���r� <�R#� ©�m�� E��	(� ��d'?  

�   ����� ����+R��� ��0Y 
) <���T��� H
B� !/�*�� tY �#����� X�m�n� ��
 H��8 ���UY �+� �dU��� 6���8
 6�5T�� 
 6V��*�� ���Un��2.2.2 �+� 6V�R��� ��)��� O##�� _2�� *#�� ­��v �v �R�? tY gTI�$ ��° (

 h,J) b�B��d'�  6�5T��3.1.6a(  

�  ) 9��� �*U ��)��� tY �#����� ©�m�� P*��+� V�� G�\ H��� �+� C*�q� 6���8�d'�  6�5T��2.2.6a(  

�   ��&�'� G� �:���� *#��� P*���� !/�*3 tY 6V��*�� 6���n� ����Y C���v� G� Gmº �v �R�? tY S�TI��� 6���8
 �+� 6V�R��� ��)���.*#I+� �	�� !/�*�� b�R�$ ����� b�B� h,J  

���U� :���/�*�� l� 6���#�� �$�7�� ��*,�� 9��:Y !+$  

 �� ������1  ��4:  G� ��*,�� .#,�1  tY4  6�5T�� 
 6V��*��3.2.1.6 :�$�\ H:? G�  

�  ah,��� �+� <�)#@ <�$���� <�J�mR'� Hm&� )�� �5,�� V*:�  

�   9*|+�� 6���8.h,��� �+� 6V�R��� ��)���� ��&�'(� G� �]���� *#�� �(�v g�Tf E�� ©�m�� P*���� tY  

)�d'�  �dv���1  tY �#������LY� .(w$�5�� ��*D� 
 �r@? �? �v�� HRT�� {@�� o� l�R,5� HRT��� {@�R�� ��~T
 ���v   �:*� �
_���� ��mR'� .0��� (� ��$ h,��� �+� �$�� 6*,�� tY 6���#� C�5�'8.  

 �����5: ���U  H��R+� ���RT�� ��5�� W�� {T�� .+R�$k  6*,�� 
 �+�R����3 �R�? �? e�
? l� �+��T�� ��U���� w�\ Z
�� ��)���� ��&�'(� G� ������ �:*��� 6���#�� �:*�� l� H	���+� l�������) �+#5���� 6���®� l����p l����Y �+� 6V�R�

 Hm&�� �d'� ah,���10:(  

 m

74.12/

150

)( 2
11

2

kdhf

d

−
=θ (123)  

 �U���� e��v Gm�θ1 

 o
*�� 
1  G� �8�R�J(��h1 �d1  ��V�R�� 
(123)  �h2 �d2 .[�*��� �+�  

.�+���� _����� ��mR'(� .0��� o�] X�&� 6*,�� 123 C��R�J� 6V��Y  

 �����6 H��R�� ��
 W�� P*���� ���/�*3 l� ��m��� �+r�� 6���#�� e��v :k 1��? 6�*@2��: 

 S1 = θ1 / 2, 3θ1 / 2, 5θ1 / 2 etc.     S2 = θ2 / 2, 3θ2 / 2, 5θ2 / 2 etc.         m (124)  

.�+���� _����� ��mR'(� .0��� o�] X�&� 6*,�� 123 H�R��� ZW�	? 6���  



�������  ITU-R  P.530-14  

  

43

 �����7: :����� ��� ������� ����
!� �"�"#$%�� ��& ��'�!� #$�5��� P�T��(� w��  l�*,�� P�#��� P*���� !/�*� !
2 �3  6�5T�� G�2.2.2.2  Z������ ��#$�5��� 6���#�� <�`$? w�\�1S ′  o� ��#$�5��� 6���#�� 123 �'��5� ���� .���/�*�� l�

 6*,�� G� ������ �+r�� 6���#�� ��U���6 ���U  ��5� e*+,�� W��� ª«k ���RT��.  

 �$V�R�� ���m'(� ���� 
 6���#�� 6���n� �$*J G� �#$�
 h,��� �+� ��mR�� 6���Y �$*J o
*�� ��v ��)��� ���v 
�
)�º  �R$ ��,J*�� ���5�� CVk  �?4/3 = k( 6*,�� G� ������ �+r�� ��'��� ���5�� ����	� G�7��$ Z6  _?)S1 

= θ1/2(  ���5@
 H��R+� ��,J�k )�d'�  �dv���2 ©�m�� E��	(� .$�0 G� �q���� �$��q� .57�� K�2�� .���RT�� 6���#�� tY �#����� (

 H��R+� Gmº ��
 W�� Q@Bk . �+�B� !/�*�� P�T��� 6V�$} �`TI��� ��VV���� tY �#����� _���`�� G� X*m$ �
�)
*�� � (Y K�L G� ���$ (.�+r� 6���#� �"�? tY H�*���  

? w:*�$ ��v ��)��� ���v 
�(  6���#�� 6���n� �$*J G� �#$�
 h,��� �+� ��mR��� �����n� �? 6���n� �$*J X*m�
'(� ���� 
) �$V�R�� ���m�d'�  l��5T��4.2.1.6 �5.2.1.6  _*,�� W�	? �5$�0 C��R�J� Gm� Z(���&�� 123 �$�7��

 ��V�R�� �=�,R� %�� WQm�� �+r�� �����#�� W�vY ����	� �+�(124)  :C�r�)S1 = 3θ1/2  �?5θ1/2 H��R+� ��,J� ���5@ (
k ���5�� G� e���
(� ��$ ��° Z1S ′  h,J �+� 6V�R��� ��)��� G� �:���� *#�� ­��v S« K�2�� .�=z*+� X�V

 G� Á� %�� 6�/�T�� l� �'}�*�� !"#�$� .*#�� �(���v� G� ©�m�� E��	(� �,J�*� 6)#@ �$�¬ �+� �dU��� o� b�B�
��)��� 
 ��&�'(� G� �:���� *#�� ­��v g�Tf  �+� �+r� )z 6���#� C��R�J� ��8 l�� b�B� h,J �+� 6V�R���

 H��R�� ��
 G� oJ�� W��k )�d'�  �dv���3.(  

@ (9��� �*U <��*��) �+$*,�� ��)��� gR� tY �#����� _���`�� G� X*m$ �
���   6�5T�� 
 V��2.2.2.2 ���� C��R�J� Z
 ���� ��mº �+r� ���
 �"�? ���q� 123 
 �J�B� !/�*��� �+�B� !/�*�� l� 6���#�� X*m� X? !"#�$� .©�m�� P*����� ���/�*3

 ��V�R�� G�(124) 6�5T�� 
 6V��*�� ���Un� 6���
 tY �VB� !/�*�� P�T��� ����$ X? !"#�$� .2.2.2.2 )�d'� �dv���  4.(  

 �����8:����� ��� ���( )��
� *"#$%� �� ���"�� ��'�!� : l�*,�� P�#��� ©�m�� E��	(� !/�*3 P�T��� w��  3−2 
 6�5T�� 
 l�V��*��2.2.2.2.  

 C*�q� �R� 6V��*�� ./��,�� C��R�J�� P�,5'(�� P*���� l�\ �����v W�� ©�m�� E��	(� !/�*3 6���#� �+�

  l��5T��1.2.6 �2.2.6 �q� P*���� 6���#� �}��� �LY� .m 23 = S  ��V�R�� 
 V��*��(124) C��R�J�� e��q� _�x Z

�:�q� ��� w��� .o
�*�� 
 Q@? ���? �L X*m$ �
 Q@? 6���#� o� !+RT�� G�7��� XY LY �q� ���5�� 123Z  P�T��(�
�T��J� H:? G� �+�B� !/�*=+� �$�D��(�q� �dR� 
� .P�,5'(� ���R� 9Z  *� �+� �VB� !/�*=+� )��� ���UY V�\ �LY�

 )z G� O';U Gmº �v H
? tY h,��� �+� ������ 6V�R��� ��)���� *#��� 6���#�� �:*�� ��~v �$�� ­��v G� ST«
.�+�B� !/�*�� P�T��� 6V�$} _���`��  

������ �1 � �>� ��	� � ��	,
 oD/� ���"6 JM�]	P
 M2	]l� -
 C�"�	H ���� /� 5��/ ;,>@
 ��	8 e
 S�,("� ��,>@�� '	A�	,�� '�
 5!5] t/��
 �	&,R� t� ��</ �58 *	� �/ .c�m ;� � �	&�� c��3D� '	�
��$ M58	P
 5!5k ;<� -
 ��"�A
 ����� �,(� ;�

,("�� �H�A�� M58	P�� ;+,�A6 ^(A�� 7�8.�9�F� �,("�� � o	L!� *�mF� �  

������ �2 �  �!/���� e"6 q��/ �!�	,�� \/�[�� � g	("R� %/� K	�� 7�8 �<��� 	=�� �&,@6 y�� ��	:� 	=+�,
 � '�NA�� 0#$ ;H	"6
 ���	P�� �
�:� ���� ;3�� S�
���� 5@8 �A&,@�� �<���/ M�]	P�� �<��� SH ��&[���dB 35�/ .  �5� y�� Y2F� 4�� '�NA�� o	L!� ^�96

.(����	H �A&
 /� �m2 ;=� ;�
) �+��@
 Y2� ^(� 7�8 �	&,RD� 	=��  

������ �3 �  ;
	,�� �$ ^(A�� 7�8 M�5,��� '�NA�� -8 O<	@�� �PQ� �/5� a�>b M5
	� 	=�� %�&6 y�� ��	:� 2	P�8D� S,H 	@$ #3�6
$ 259
 %�&! 5�/ .O$F� Xk o	�
�< /� o	��� M�]	P
 e"6/ NP� h�� 2	A&R� 1256 '�? ����m �"Pm /� Y2F� ^(� 7�8 }�� �PQ� �#

D/ .NA��  ;
	,�� ��	,>�� O�"�� \/�[�� 0#$ � ^�96k  ��	,� �(���
 �+�� `W �	@��D� *���F� e�� � ��P@!/ .7(���� �+�"�� -8 ;"6 y��
;
	,�� k �!5"6 ;<� -
 .'	�
���� SH 7���� M58	P��  

������ �4 �  ���	,+�� �"H	(
 ��F� �
����/ f�/F� �
���� SH M58	P�� %�&6 %� i�"k -&
� �?W(124)  M58	� g	P6	H �(�AH �!�A6 5,H
 M�">�� � M�2���� �	A�l�2.2.2.2.K��F� M��< q�� -
 ���	�W M5
	� X""k J  
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2.2.6  3�� �	
��
����� ��V�3��V W��
� '��>V ��V�3�� '��> �4U)� 8 ��V�  

 ����Y ���� .9�`�
(� w�v 9�VB� 6V*: G� �$~� �+� C*�q� H:? G� ©�m�� E��	(�� _��~�� E��	(� o] Gm�
���U� ._��~�� E��	(� ~$~R� tY H�*�+� ©�m�� E��	(� ���/�*3  �$�\ h��� %�� �5$�,�� !+$ ���v 
 H��� �$��}

k�} .w�: tY <�#�: l�*8*� �$��~�� E��	�� X��R$ ���/�*3 k�} ���v 
 �? ©�m� E��	�� X��R$ ���/�*3  

 �����1:  E��	(� ���/�*3 k�} !�/�*3 �v? �?) ©�m�� E��	(� ���/�*3 k�} 
 (�+�B�) !��/��� !/�*�� �+�B� tY H ��
8*�� ©�m��
 6V��*�� ��9��:n� w�v 6V�� �$��} .U� C�J�n� !/�*3 K�2@� (w�: tY <�#�: ��*  6�5T��  5.2.1.6 )�d'� 

�dv���  1l� �����$ ���5M �d���� *#�� G� �$��q� ���3 g�Tf tY H�*��� ��$ K�2�� .(  2,5  �dB 6  C�r��J(� ���� <�R#�
.(P���(� 1*&�� �? *#I+� g�Tf ��
?) *#�� G� �$��q� ���3 ª5' G� g$*R�+� b��? !/�*3 �:�q� ��� H�R��$�  ����.�d  

 �����2:  HTJB� tY H �� ���/�*3 k�} 
 �	�� !/�*�� �?) ©�m�� E��	(� ���/�*3 k�} 
 (�VB�) P*���� !/�*3
 _*���� tY �#����� (w�: tY <�#�: �R
�*�� _��~�� E��	(�:�VB �+��5�� �$��~+� !+�� !5UB�  

�   )��� C*0 �+� �$�&�� _����� ��mR'(� 1���� �$��}) �����∞ = ka(  

�   µ��#�� l3*�+� �+��5� �$��}dB 3 ) �$����� �*� tY <�#�'�d'�  �dv���2.(  

+� 6�$�� �$���� ��J�mR'� 6�� V*:� C�v 
 ��5U�*� �$��� �$��} ����	� Gm���? .)��� C*0 �   V*:� 4�� C�v 

 .(����#��� �?/� ��8�B� {$��`��� G� ���') ��̄5� �r��� ��mR'� W*
? 1��� H��5� �$��} ����	� Gm� �$�� _���� ��mR'�

(Y� �23 4��? ./�*� V*:� ���v 
 .UB� 1���� �? ��#�� �	 1���� �$V�R�� ���&�� 
 !/�*�� �23 �$��� ���U ��.�  

������ �1 �  -8 S�
���� g	>62� t/	A6 5@8 �!/	A�
 %�&�� *	P"��D�/ *	�2l� ��
��$ `W �PA@�	H 7���� ;��� �!/�j %� ����
 ��P@!
 ��R�) ^(A�� �	&,R� 0	s	H �!/�j |�� ;�n t#�� �
���� ;�
 �!/�j |�� ;H	"6/ .NA�� *�m 7�8 ^(A�� 7�8 �	&,RD� �("R

">��M� 5.2.1.6.(  

������ �2 � :� -+&!/ 1/��
 	@$ ��[@�� �A�
��� c5��  

�   �V 7�8 O�! ?W 7�8F� �
���� f��3 -8 o�5< z��� ^(A�� 7�8 �A&,@��/ M�]	P�� '�2	]l� '	!�� -
 f��3 `W ;�����
~-&_ 5� |�� `W 	!�/��� g�@6 '�Nwx6 T�� O�	,�6  

�  i!�m -8 �!	+:� N��6 � M�]	P�� �<��� �
�� 5!5p -8 O<	@�� O��@�� �P)�� ���	"�� \/�[�� � �	�l� g�@���   7�8 ���� /� 5��/ }��
	_) NA�� *�m  .(K	��L�� �P�8 4�� ��UF� 7�8 7"P�� 'D	:� 0#$ ;�
 � ^(A�� 7�8 Mj�,�� �A&,@�� M2	]l� �!�� %� �,!  

 �"��#�� �q� ���
 E���dB 3  ����� ���	 <�)#@ <�8�T�� P*���� !/�*3 tY �+��*�� 6���#�� 6���n� �$*J b�T�� w�� tY
.!/�*�� �23 4��? 6���#� �$�&�� _����� ��mR'(� ­��  

6���#�� 6���n� e��? �LY ���	 �$V�R�� ���&�� 
 ��#�� �	 tY �#�' �#:*� X*m� �
 ������ H��� �$��} X? ±v�$� 
.("X*U���" !/�*�� :C�r�) ���&�� 123 Hr� 
 k��R'(�� )#@ l3*� P*���� !/�*3 tY �+��*��  

3.2.6  ??���� '��> �4U)� 8 ��??���� 05�  

 P*��� <�5U��� �? <��/�� �? <�$���8 �:�q� w#�� VV���� P*�� �=�U X*m$ �
 �+�+
 �(�v ��,"�� ��5�� �23 ���*+R� Â��
X�m�� ��.�$��~�  

:H��*� ���� C�	 G� VV���� P*�� ��d'? 
 �$��q� ��*�
� ����/��� ��*�5�� l� �/��� ��VV���� H�U V�7�$�  

�  ) �q���� 4�d��� VV�� �,	�d'�  �+�+��� ����*�F (�$*$V���� �(���(� P�,5�a  

�  Q�� �*U ��)���� ���� VV���� P*�� G�\ H��� �+� C*�q� 6���8 )�d'�  6�5T��2.5.2.6a( 

�   ��)�� �+� �	� VV��� 6���Y O�U *#f _2�� i
*�� {T' 
 �v�*�� VV���� 6���Y *#	 C���v� ª�+5� 
 �#z���
6�$�� .��mR'(�  
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���U� :��VV���� H�U �$�\ H:? G� 6*,	 6*,�� 9��:Y !+$  

 ������4-1:  G� ��*,�� .#,�1  tY4  6�5T�� G�3.2.1.6 7��:�$�  

�  ah,��� �+� <��$�� <�$���� <�J�mR'� �`� ��)�� .0��� V*:� 4��  

�   ��mR'� .0��� V*:� 4�� C�v 
� .h,��� �+� 6V�R��� ��)��� G� �:���� *#�� ���· VV���� P*�� 6���8
 6*,�� tY C�5�'(� Zh,��� �+� �$�� _����8.  

 �����5:  ��5�� W�� {T' tY �#�����k �� 6*,�� 
 6V��*�� ���RT3  6��5�� 
 ��VV�� H�U �VB �+r�� ���5�� w�\
:��V�R��� �$��q� ��*�
� ����/���  

 MHz

74.1274.12

105.7

2

2
2

2

1
1

4

⎟
⎟

⎠

⎞

⎜
⎜

⎝

⎛
−⎟

⎟

⎠

⎞

⎜
⎜

⎝

⎛
−

×=Δ

k

d
h

k

d
h

d
f
min (125)  

 G� QR$ ��vh1 �h2  G�� ����B��d �d1 �d2 ._���� ��mR'� �5,�� V*:� C���v� ��� 6*,�� 123 2�T�� ��$� .�����*+�m���  

 �����6 ::��V�R��� �$��q� ��*�
� ����/��� ��*�5�� 
 ��VV���� H�T� �+���� �+r�� ��5�� w�\  

 MHzetc.,3, minmin fff ΔΔ=Δ (126)  

._���� ��mR'� �5,�� V*:� C���v� ��� <�`$? 6*,�� 123 2ÀT��  

 �����7: :����� ��� ����( ����
� �"�"#$%� +� ��'�!� ���U  6���n� �$*J �=�U X*m� X? o
*�$ %�� ��)��� ª«
 ���
 _?) �$V�R�� ���m'(� ���� 
 6���#�� 6���n� G� �#$�
 b�B� h,J �+� ��mR���k  �? �,J*��4/3 = k X*m$ (

 6*,�� 
 ������ ��VV��+� [�r� H�U �V?5 ) Hr�B� H�T�� *3�d'�  �dv���1�º .( $�¬ !,R$ W�� Q@B VV���� P*�� �
 ��5+�k ��VV���� �,� ��m��� ���5��� ����r�� ���5�� l� !,J� H7@ !+RT�� ��VV���� H�U Â�$ X? !"#�$ o#,���� .

 G� ������ �VB� ���5�� 1���� 6������ ��VV���� �,	 o� �=���� E�� ����r�� ���5+� H$�R� H@ X*m$ X? !"#�$� .6������
�� ��V�R(125)  o�∞ = k(Y .  H:? G� �+r�� ���5�� o� _������ 4�� k��� !+RT�� ��VV���� H�U X? �+� ��@���� !"#�$ O'?

 6�5T�� 
 6V��*�� �5$�,�� C��R�J� Gm�� .VV���� P*�� .$�0 G� �$��q� gR� �+� C*�q�2.5.2.6  ¢v V���®�

 .��J�mR'(� ��)���  

���U� ��� ª«( %�� ��)  6���n� G� �#$�
 b�B� h,J �+� ��mR��� �����n� �? 6���n� �$*J �=�U X*m� X? o
*�$
) �$V�R�� ���m'(� ���� 
 6���#���d'�  l��5T��4.2.1.6 �5.2.1.6 ���U i#+�  �5$�0 ¶��3 (���q� !3 123 i'�@ �LY

( K�L� .6�V�' �(�v 
 ��mº X*m� �
 W�	? ����� G� ������ �+r�� ��VV���� H�U ��
 Q@? W�vY ����	
��V�R�� (126)  �,J*��� ��5�� tY �#�����k  !/�*�� ���T��� X*m$ X? Hr�) )��� ���+R�� ��VV���� �,	 K�2� i7� �LY

 6���`���h1  �?/�h2  ��VV�� H�U C��R�J� �,	 _*,�$� .o0�5��� ��,��� P*�� C��R�J� �? ({@�R�� h,��� �*U
 ��
 W�� b�� {T' �+� O����RU 4�� �+� �+r�� ��'��� ���5�� G� b��?k ) ���RT���d'�  �dv���2.(  

���U�  !"#�$ �r@? �? l�+�T�� l�R,
 !,R$ �r@? �? �v�� HRT�� ��m� o� ��~T5�� ª« ��V�R�� .#,� X?(125)  Hm&�
 ���5�� �+� C*�7+� �/����� H@ o�|¤� X?� 6�$�� �$���� ��J�mR'� G� ©�R� %�� ��R,5�� G� �R,
 H@ �+� H5���

 ��+m��Δfmin��? . ( %�� ��R,5�� .o�D� ��+�� 
 ����Y !"#��U �$�� _���� ��mR'� �+� _*�\  

 �����8: "�"#$%� ,��- ��'�!�./0� ��� ��� ����( ����
� �:  �5$�,�� C��R�J�� P*���� G�\ �����v W��
 6�5T�� 
 6V��*��2.5.2.6 .��VV���� �,	 ���� G�8 ����,5'(� G� ST« !m� ��VV���� H�U W *�$�  
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������ �1 � 	
 o	P�	U  \/�[�� � �H�v� NU %�&6/ K	�� ^(� 7�8 �A&,@�� �<��� 	=�� �5k y�� '�NA�� �$ '�NA�� 0#$ %�&6
 ���	P�� �
���� M25"�� z9R ���� -+� S�
���� -
 ;� � �A&,@�� �<���/ M�]	P�� �<��� SH �!/���� e"6/ �!�	,��dB 3 %�&6 5�/ .

�� 4�� '�NA��/� �m2 ;=� ;�
) o�5< �+��@
 Y2� ^(� 7�8 �	&,RD� 	=�� �5� y�� |  ;9� ���� �5� S��	:� �/ .(����	H �A&

.��	,�� ^(A�� 4�� *	8 �
��$ g	>62� '�? MN9"�� '�NA+�� �	�
  

������ �2 � ��	3/ ^(A�� 7�8 M5��/ �A&,@
 M2	]W -
 ���� OL6 y�� '�NA�� `W �PA@�	H  �R2	"+�� ��H	"�� NU '	!�A�� '�? I�6
SH f�/ ;� �	�W -&n O�"�� %� o	L!� ��#�	H �!5�� -
/ .'������� �(3 � M��<��� I�6/ 	� xP@��� '������� ;9>� M5!5,�� ���	��� O�"�� 

.g�@��� �!	� a,H ^��6 '������� ;9>� 7���� O�"�� -8 ;"6 y��  

4.2.6  
� '����� -�XY�Z�� [�(��� �4U)� 8 R��  

:������� 6��#R�� �,J�*� ZQ�� �*U )�� �+� ��,��� �5�8 �����n !J?��� _*���� 
 ©�m�� E��	(� G�\ H��� ��5$ X? Gm�  

 ( ) 10/)–(04.1–
0

48.012.0–87.0 1040.0–exp–1
VA

pdfSI
⎥⎦
⎤

⎢⎣
⎡ ×= (127) 

:��v  

 V = ⏐G1 – G2⏐ (128)  

:o� 

  A:   *#�� .��(dB) !��� )z )��+�  

  P0:   H���*#�� ­��v (%)  ��V�R�� G� ������(10)  �?(11) 

  S:   C�#5�J(� ���/�*3 l� (~@�� tY ~@�� G�) !J?��� H�T��(m)  

  f:   VV����(GHz) 

 d:   )��� C*0(km) 

 G1 ZG2:   l�/�*�� �#�@(dBi).  

 ��V�R�� �����(127)  ��J����� ��D ���,R� K�� 
 6�U�*��� ���,R�� tY3  H:? G� �$*$V���� �(����� �$��? ��)"���
:������� km 240 ≥ d ≥ 43 ZGHz 11 ≥ f ≥ 2 �m 23 ≥ S ≥ 3 . �5#� �
 ��V�R�� 123 X�� V�5��(� tY *��� e�#J? �j�

 tY H�� 6)"� )�� C�*0B �q��km 25 }��|��� G� �$*��� �#���� w�\ X? Gm�� .pw  ��V�R�� C�	 G�(7)  �?(8) 
 .9�`�
(� w�v ��V�R�� X*m��(127)  ��V�R�� O�U X*m� _2�� .��R�� *#�� W�� 
 �q��(7)  �?(8) .�q��  

5.2.6  ��4K��� �4U)A� 8 '����� �����>  

 ��d'c� K�2@� �$��~��� VV����� X�m�� P*�� ��d'B P*���� l�7��� P�,5'(� �(���v�� -#��+� 6�U*�� ��0 ¶��3 %��
 l� o��.[����@ !3 6*,N 6*,	 ��9��:n�� .VV����� X�m�� P*�� ����5�  

1.5.2.6  R��
� '����� \�	]�C� 	�
 '�(�)*�+ ,�����  

 .W*�5�� 6��5�� �L 4��`�� ©�m�� P*���� ��d'? 
 )#@ Hm&� X�� ¢v 4�I�J�.#,�$�  4�5�� 6*,N 6*,	 9��:n�
@ 4�I��� <���5R� �r@? ����`�� G� W�	? P�*'? ¶��3� .4��`�� �23 Hr� 4�I��� %�� ��d'B� �+� 1�'V?�  1*&��� G�

.�� �v tY H`U? 9�V? !,R� �
� Z�$*$V���� 6��5�� ���5� w�v W*�5�� 6��5��� �VB�  

 �����1� ��)�� Q� ��&��� H��� w�� :6V�R�Z ηZ  6*,�� Hr�2  6�5T�� G�1.4.  
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 �����2!/�5�'(� )z ������� H��R� o��� w�� :Z knsZ :������� �"���� G�  

 η
×−= nsns

ns

PI
k 1
2

 (129) 

l�7��� ���5� Gm� ��vZ InsZ  ��V�R�� G�(127)  *#�� .�R�(dB) A  �d���� *#�� G� �$��q� ���� H��5��(dB) F 

)�d'�  6�5T��6.3.2( �Pns  ��V�R�� G�(29).  

 �����3[�5�'(� ������� H��R� o��� w�� :Z ksZ :������� ��V�R�� G�  

 ( )
( )⎪

⎩

⎪
⎨

⎧

>−−
≤<−−
≤

= −−

9628.0for13957.01

9628.05.0for1195.01

5.0for8238.0

5136.0

)1(log13.0109.02

ww

w

r

w

w

s

rr

rr

r

k w (130) 

 ������� H��R� ������� �"���� !,R� ��vrw :��#���� ��������  

 
⎪⎩

⎪
⎨
⎧

>−−
≤−−=

26.0for16921.01

26.0for19746.01

2034.12

2170.22

)(

)(

nsns

nsns

w

kk

kk
r (131) 

 �����4 C���v� w�� :!/�5�'(� )z P�,5'(�Z PdnsZ :������� �"���� G�  

 
ns

ns
dns

I

P
P = (132) 

 ��vPns  ��V�R�� O�,R� _2�� !��� )z P�,5'(� *3(29).  

 �����5 !/�5�'(� P�,5'(� C���v� w�� :Pds :������� �"���� G�  

 
)( 2

2

1 s

s

ds
k

P
P

−η
= (133) 

 ��vPs  ��V�R�� O�,R� _2�� !��� )z P�,5'(� *3(89).  

 �����6[�]n� P�,5'(� C���v� w�� : Pd :[����@  

 
3/4

75.075.0 ⎟
⎠

⎞
⎜
⎝

⎛ +=
snddsd PPP (134)  

2.5.2.6  ??���� '��> \�	]�C� 	�
 '�(�)*�+ ,�����  

 4�d��� �+� ���5�� �5$�,�� .#,��1 + 1 6*,�� X? ���U o� ©�m�� P*���� ���v 
 9��:n� {T' o#�$ .2 :������� �"���� 4�I���  

 
10/

10
80 F

ns
f

f

fd
I ⎟⎟

⎠

⎞
⎜⎜
⎝

⎛ Δ= (135)  

v:��  

 Δ f:   ��VV���� H�U(GHz)  i'�@ �LYGHz 0,5 < Δ f  H�R��$Δ f  =0,5 

 f:   �+��q� �:*�� VV��(GHz)  

  F:   �d���� *#�� G� �$��q� ���3(dB).  
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(   .#,�(Y ��V�R�� 123 :������� ���+R�� �$��? �+�  

GHz 11 ≥ f ≥ 2 

km 70 ≥ d ≥ 30 

%5 ≥ Δf/ f   

3.5.2.6   \�	]�C� 	�
 '�(�)*�+ ,�����'����� $V�3��  

 �����1�,J*��� C*�*�� �$��} ��5� :Z μθZ :������� �"���� G�  

 �:�VdG
m

5
1089,2µ

−×=θ (136) 

 ��vGm ���v�) ���m'(� k���� �,J*��� ���5�� !3�km/N h8�� Hm&� _*
 !8�? ��mR'� V*:� ���v 
� .(
 �$�5� Gm�μθ .�$V�R�� ��&�'(� E��F 
 {mR��� P�R&�� C*�� �$��} G�  

 �����2!/�5�'(� )z gT�� ��+R� w�\ :Z rZ :������� �"���� G�  

 
( )

⎪⎩

⎪
⎨

⎧

≤

>+
⎥⎦
⎤

⎢⎣
⎡ +Ωδ=

1for

1for963.030/150sin113.0

qq

q
r (137) 

:��v  

 
)/()/(

593.00437.05052
δεΩδ ××=q (138) 

�  

 δ:  l,,I�� l� �$��~�� 6���#� 

 ε:  (b�B� 1��� 
 w:*�) �+�B� !/�*�� P�T��� �$��} 

 Ω:  .!/�*�� ��,,u ��~q 6��5�� S�' �7�U  

 �����3 !/�5�'(� )z ������� ��+R� w�\ :Q0 :������� �"���� G�  

 
( ) ( ) ( ) ( ) ( )

⎥
⎥

⎦

⎤

⎢
⎢

⎣

⎡
××

⎟
⎟

⎠

⎞

⎜
⎜

⎝

⎛
×= ⎥⎦

⎤
⎢⎣
⎡ δεΩδ

⎥⎦
⎤

⎢⎣
⎡ δεΩδΩδ

θμ−θμ
2

/
152.2

//
978.1

//
879.1

2
58.24

0 601.4615.3694.2109399.0rQ (139) 

 �����46V�R�� ��)�� Q� ��&��� ��+R� w�\ :Z ηZ  6*,�� Hr�2  6�5T�� G�1.4.  

 �����5:������� �"���� G� !/�5�'(� )z P�,5'(� C���v� w�� :  

 
6.6/–

0 10
F

dns QP ×η= (140)  

 �����6 !/�5�'(� ������� H��R� o��� w�� :ks, :������� �"���� G�  

 ( ) Ω
θθ

μμ μ−μ−δ⎟
⎠

⎞
⎜
⎝

⎛ ××−= θθ 23.232
638.0188.0211.010694.00763.01

2

s
k (141) 
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 �����7 : ���$ !/�5�'(� P�,5'(� C���v�Pds G� �
�R�� �������:  

 ( )P
P

k
ds

s

s

=
−

2

2
1η

 (142) 

 ��vPs ) !��� )z P�,5'(� *3�d'�  6*,��3 G�  6�5T��1.5.(  

 �����8[�]n� P�,5'(� C���v� w�� �$�=��� 
 :Z PdZ :������� �"���� G�  

 
3/4

75.075.0 ⎟
⎠

⎞
⎜
⎝

⎛ +=
snddsd PPP (143) 

4.5.2.6  (WT�����) ??���� '��>V R��
� '����� \�	]�C� 	�
 '�(�)*�+ ,�����  

 �����1 !/�5�'(� )z ������� H��R� �+� H�� :kns :������� �"���� G�  

 k k kns ns s ns f=
, ,

 (144) 

 ��vkns,s �kns, f ��  ���R�) ©�m�� P*��+� X��*��� !/�5�'(� )z ��������d'�  6�5T��1.5.2.6 VV���� P*���� (
�d'�) 6�5T�� 2.5.2.6(Z .[�*��� �+�  

.©�m�� P*���� ���v 
 �R#��� �=�T' !3 ������� ��*,��  

5.5.2.6   ��+��) ??���� '��>V R��
� '����� \�	]�C� 	�
 '�(�)*�+ ,�����(�T�����  

 �����1 w�� :η  6*,�� Hr�2  6�5T�� G�1.4.  

 �����2 P*���� ��+R� w�\ :mns :[����@  

 
( ) ( )m k kns ns s ns f= − −η3 2 2
1 1, ,

 (145) 

 �+� C*�q� ��$ ��vkns,s �kns, f @��  6�5T�� 
4.5.2.6.  

 �����3 !/�5�'(� )z P�,5'(� C���v� w�� :Pdns :������� �"���� G�  

 

P
P

m
dns

ns

ns

=
4

 (146) 

 ��vC*�q� ��$  �+�Pns  ��V�R�� G�(29).  

 �����4»U�m�� !/�5�'(� )z ������� H��R� o��� w�� :Z knsZ :������� �"���� G�  

 ( ) ( )k k kns ns s ns f
2 2 2

1 1 1= − − −η , , (147) 

 �����5 »U�m�� !/�5�'(� ������� H��R� w�� :ks  6*,��) ©�m�� P*���� ���v 
 4�I���� 9��:n� {T' P�#���3.(  
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 �����6!/�5�'(� P�,5'(� C���v� �+� H�� :Z PdsZ :������� �"���� G�  

 ( )P
P

k
ds

s

s

=
−

⎡

⎣

⎢
⎢
⎢

⎤

⎦

⎥
⎥
⎥

2

2

2

1η
 (148) 

 ��vPs  ��V�R�� O�,R� _2�� !��� )z P�,5'(� *3(89).  

 �����7 [�]n� P�,5'(� C���v� �+� H�� :Pd  ��V�R�� G�(134).  

7  ����� ���	
��� 
�����  

:������� �"���� G� 
���� *D� ��)��� tY �/�R�� [�]n� P�,5'(� C���v� w��  

 P
P P P

P P
t

ns s XP

d XP

=
+ +
+

⎧
⎨
⎩ if diversity is used

 (149) 

 tY H�*��� ´./��,�� P�#��� �"���� 123  ���5T�� 
 6V��*��6.3.2 �1.4 �1.5 �5.2.6.  

w���  l� Q@B� ���5�� 9�5�'�� �,�� tY �/�R�� [�]n� P�,5'(� C���v�Prain �PXPR  ./��,�� P�#��� �=��Y H�*��� ´ %��
 l��5T�� 
 6V��*��7.4.2 �2.2.4.  

 ./��0 ���? �5�-#���� P�,5'(� ­��v S$�R� tY <�V���J� ���
��� �$*$V���� ��d'c� P�,5'(��Z  C�R�� �*T$ �����BER  ���R� ���

)3−10 × 1  ���*��� ��#+,�� ���|�J� K�L� (<�r�ITU-T G.821 9�VB� �,	� P�,5'(� l� ���$� .������� )�d'�  ����*���

ITU-R F.594 �ITU-R F.634 �ITU-R F.695 �ITU-R F.696 �ITU-R F.697 �ITU-R F.1092 �ITU-R F.1189 
�ITU-R F.557��@ !J�J? Hm&� 9�VB�� 
���� *D� ��)��� tY �/�R�� P�,5'(� l� ���$� .(   C�*vB� w+z? 
 ���$

l�   H0�*�� tY �/�R�� P�,5'(�������� 
 
���� *D� ��)��� �3��� �
 K�L o� .������ � �
�.9�VB� 
 H0�*�� �3��  

8  ����� � ����� ��� ����
�� �
���  

�� 4�d' o8� 9���? ����#�	� 9��:Y ���  ���*��� 4�mvB <�5U� ����� 
ITU-R F.1330  ����� ����U w�� G�7��$
.6V�R�� ��)�M ��&�'(� C*�v C���v� �39���? V�V~$ %�� ��=��� ����J�  

J����� gR� ��=F? �
� ��&�'(� ��)��� ­��v C���v� H5$ O'? ��
�&�� �����? G� §���� ����R� .0��� 
 ��: %�� ��
���U� .H�T�� �2� l5����� G$�=&�� C�	� 9��&�� 
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